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PHYSICS (sfifaat) - XTI, 2024 (A) [
g c3uerisfme] 000 [guttes :70 | 15 7t fordlt 7ok R 1 1w (v) 1 A SEh <A e o T
___________ l_'é_s'_‘_ _Ei_i S (A) AND (B) OR (C)NOR (D) NOT
m_‘a:r’mﬁ-gm) 16mﬁ$ﬁaﬁﬁ“ﬂfmaﬁ%ﬁm§aﬂm%ﬁ?ﬁ%
. = (A) 1ev (B)10eV  (C) 100 eV (D) 0.01 eV
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L aC o T v S s did S = 18.110fawﬁ1§ao‘rﬁﬁ ﬁﬁmmﬁrsom%
(A) e o (B) S W (A) 25Hz  (B)SOHz (C)100Hz (D)200 Hz
(C) e 4 (D) 79 ¥ weft b - .
2.§Wmﬁﬁgaamwwgﬂml=o.6sinloonzﬁﬁvﬁﬁ 1 m?ﬁﬁ ST wen feteer < 1 A A € o
| g ¥/l SEhd @ :
(A)SOm  (B) 50 (© 100 (D) 100 (4) TR B) TR (©FT (D) T
3 o o H orER s w A R 20. HOR STE K geoft # Tae ¥ g7 T :
’ (A) DC (B) AC (A) 36000 ferete (B) 36000 &
(C) DC @ AC ZF (D) T | = T (©) 3600 fepete (D) 36000 =
4. 9% ¥ Fe1 M ufdfae o 21. HHH AT A S @ i i
(A) srea <o @ (B) ST = H W #md (@) WEa F (@A (D) WA A
(C) A <0 (D) el oF o 22. WU Ggell N S H € ?
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7. TR 1 feior fRE wRor g @ 2 (A) T=T T (B) siEq W
Eg EELE g wqa";“ﬁ"w (C) 9o oir|d =t A (D) T 9 & T
s.mw/;ﬁ;amwwm%:w 25. A% ds SEE TRW W YT &9 B waed €, a9 ds
(A) el (B) el x & T R GAR B
%ﬁg% (D)ﬁ;‘rﬁ%@ g el (A) Bdscos © (B) Bdssin 8 (C) B dstan § (D) I
9. =1 ot g3 : . fen :
(A) [MLT?A™" (B) [MLTA™"] 26 ;;qu i @%% s E—
(C) [MLTA] (D) [ML*TA-1] ) B © ®)
10. 8 eitn 01 omaw  wofeer Tl F den § 27. T R T A WA 0 F A WA AN
(A) 5 x 10" (B) 2.5 x 10" 1
(©) 12.8 x 10" (D) 1.6 x 10" a1 (B) 3 (©) 21 (D) =
11. %@;ﬁa?mﬁmﬁgﬂagﬁﬂﬁ;oﬁ{ﬂm 28. afz yeadt wR qen faoa @@ & W wer=R B @, @ s
| T8 frem el 3 T B A E
- 29. Th 21 5 Y= Tk ST € Sk
12. ®1q % 3TARE et & 98 ¥ WA % FK F AR GH W e e
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(a/?):j; :% (B) Sigdl & . :ff{ () 5 s e
: 5 5
(C) 31 & el € foa 98 W ® 30 %aﬁa(@amﬁgﬁﬁmg;gﬁaw&:%
(D) W& I el § ) . J ’
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TARGET QUESTION BANK

. o= Fe T ©
(A) TEA AW H (B) FeE-a7 & o
(C) aga efan (D) g A H

fordt genfar &1 enftar fasR =27 &t 2

(A) ™I T Tpfa W (B) @&l & 3MHR |

(C) @Il & 3MmEy | (D) =& & o R W
Tk Tield Wik shioeniar 1.0 pF € 1 SHet e gnl
(A) 111 /i@ (B) 10 Hi®  (C) 9 WX (D) 1.11 T
ol ©1q 1 WeEE e @

A) -1 (B) 0 1 (D) 3THd
frefafad § 9§ ®9 T GURE g0 o@eg © 2

(A) THT (B) Elodle

(C) THlo 3R St B (D) 7 a1 TWlo 3K 7 & Shotflo

A0W TME60W o & sied 220 V Eid § WIE W[ B | Sk
yfowry o ST ER ¢

(A)4:3 (B)3:4 ©2:3 D) 3:2
fopelt qR 1 WRRIE 500 Q B | St fagd wretwar g
(A) 0.002 ohm™ (B) 0.02 ohm™

(C) 50 ohm™ (B) 500 ohm™

n TEH YfoRIEed Tee SUlhH § qe U a1% THMNR %H o
S S ® | tferehan qen =gad wiadie 1 ST B0

1 1
(- (B) n © 3 (D) n*
favemrdt #1 guer #t dgH & o :
(A) 3@ AR T T U= @M1 AN
(B) 39k AR H YR &l TMET &M
(C) 39 AR H ©R ! dgMT BN
(D) 39 R i A =gl BRl
g wetea fREd & fgdm fem gws @ @

(A) SoA9M T | (B) 3T W&o |

(C) ol Hee 9 (D) HaT e §
FrefefEa o o i ek &5 H1 e 1 Ak el © 2
(A) 3T (B) Aa/HER

(C) =p/frreR-ex (D) =p/frer?

T Ha smefid @ .

(A) 91 o TEEME T9E W
(B) FRII-fogd g9@ ™
(C) 91 & THEIhig YAE TR

(D) oA TR0 W
helre fortol oe € :
(A) T & (B) S
(C) =gl & (D) TS
Yedmafaa Tqd # -
log10> 0.6931 Sire 319
(A) 0.6931 x A.(B) == © — (D) =5 6931

&9 TNk i S.I. THE ©:

(A) X (B) &S (C) wfa #iew (D) Hed?
o Th?’ o wh wam] § = w1 g ®

(A) 320 (B) 230 (C) 140 (D) 90
P-N Y TEiE ® ITER HW T, TH :

(A) WaEleh & W& (B) STk I W®

(C) ATSHR & W& (D) fepepml =1 e
Frerefi/aiessyam 1 sgM arel 43 l Fed ¢ :

(A) Sifers (B) ¥ad®  (C) sEI® (D) femard

Tk % ek o ke T Hesh ford @ | ek | 6 S
F S GEA B, AR
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(C) =g &7 (B) & (D) 39 ¥ H1g &l

Tk TereHet # S H ager W Sigl S R
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(©) oot % 1= wiemie (D) TEHIR | S=a Wi
URETE! T9 el o s W S greshid &5 @l
(A) FUeelt o dd § (B) FUEeAl o dd & Haaq
(C) Fueelt o T ¥ 45° W (D) FUeell o ad | 180° W
forelt (M) Fraeta STeOl ATt Jrah ohi orwaTg o TR N
U THS! H HEeA W YIH Th H1 STEU BAM :

M M M
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Frefefea & 9w dfea =¥ ww@ € 2

(A) ST Tl (B) dregmaia gred

(C) wfagmrana agred (D) T ¥ ®E Tl

ga Yo m W 0 W geha fawd w1 A g @

m m m
O O e S B
T gereelt  wfafee e 2
(A) Ir&dfass WE dren (B) aTEdfaeh TE 3ol
(C) 39 3R Ie (D) 3N9rE ue wfien
T o @ et e W R o 1 o widfes e @
(A) TEfash 3R e (B) ar&dfaes wd Hien
(C) st 3w wen (D) 9 TS e

I A 1 R feha W ®

(A) Fehe gfie 2w (B) ¥ 3fte < #

(C) 7 gfe 3w & (D) fegamar &

A T T Atell BH hl HRO ®

(A) =afaerzo (B) ehiviA

(C) foeda (D) g
ﬁa@—%@ﬁ&wm%w@mﬁﬁmaﬁ%ﬁ@é
BT T

(A) TCREA o GHEI (B) Teed o STk
(C) Weed & o o HEEU

(D) TCReA o o o STEREIET
THAUT YR & T Ed FA-Ge9 Fe 9 7, 5F TR

(A) drerand & e (B) 3™ E9H &
(C) et 99 &t (D) ™ & wE &l
S-siredt qares ¢ .
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h
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my v

(poeo)’”z?:h'[ aH 2
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T FHM TEhT &7 B Y ac1 st oF GHHRR T Sadd
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. g 89 (B) ffﬁiﬂﬁ(;l) TR SATEO A R e

BN YA -l (1) H WA A T :
(A) T=m xB

2 m - B
© =3

B
U 1 S WO T
(A) FelH (C) (B) dee (V) (C) ™ (Q) (D) & (H)
oTg % o9 foRdl T & gk 49 ° qe B T TR
S T B R

(A) =fa (B) SfaHfed

(C) THEAM (D) & & wIE T

TP % wr W fagid snefd ©

(A) 910 o FEE Y9 W (B) foR@-grE@E Wo |
(C) 9@ geha W (D) 3@ & ®

Qug- ‘T’ AN-THFTS U9 )

o G 19 20 weft s §1 fenl 10 uvi o W
< v o fag 2 i faeifa 2 (10 x 2 = 20)

. hifdek U F § ? THR! SEYIE A TG |

fopelt erfaree =gg W 10" goiela o Sl ® | S9 ovg W
I SMEY hI TOAT Y|

p-TTEU AU 1-TT AGAAF H HR T H |

Ve o I STERT i fad |

. feemamd wem (1101), 1 =i yomelt § a= |
. www T Fax sl <aRedl &1 |

EEN HN R ?
YRIY-ScESish SIS 1 T 2 TR U S fod |
Tyt faeed it TfvRta Haaa & a9 sia 99 |
Tegent i =0 € 2 THe1 A (g |
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. Yo U 1 7 ? THR! ST fefEy |
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. U F AT hH HHAH |

. T g a@i #n @ 2 fafa & g9 9 R sl W

AR e 72

. WA W € 7 3EE & qREH ey |
. 6 uF o g o1 faaaiaR 10 V820 V 3R 3 W STh! FHel

¥ gfg s Hifa |

g e sH-offE ufE w0 e § 2 A & THE-TE
ERGURIEE

foredt forg W foera & =t e &t aftamn 9w | g9 S
e ford |

fopeft % g8 o 7ST2 x 1070 cm gy el =61 sk Sga fgga @
T ? | g8 4 Frfd e vored e g 2

U9 WEAT 21 W 26 Ok <" SRS we 1 feRl 3 weAl @
I <1 U o fora 5 efem Trifta $1(3x5=15)

foe feya @ ¢ ? faeda faya o wmw fReht fig w o
fawa 1 s 9 H |

WeRTST 1 SATqeRT 1 € 2 47 ok fgeh Y fog v o fipst &t
ST 1 T WE B |

T o gt T T Seohe L qel T HH ok IUE T JUH

Exdl

WTeTeraTeh 11, ST eraleh 19 Al elegrareh 14 grelf ok Ton <l ford |
T i IR Y q 3ERT S A fod | N %Y S,
[T e - 3o Y ufATferent o feTt TouRenca =t 70T 1 |
p-n-p T n-p-n TTTEI i FrAfafy w1 afes quia w1 |

STAHTAT(ANSWER)

DN =

n oW

=)

gug -‘3T’
B 3.@A 4.@A S
(B) 10. (A) 11. (B)
. (A) . (D) 18. (C)
. (A) . (C) 25. (D)
. (A) . (B) 32. (O)
. (D) . (*) 39. (D)
. (A) . (C) 46. (B)
. (A) . (A) 53. (B)
. (A) . (B) 60. (B) 61. (A)
. (O) . (*) 67. (A) 68. (D)

TS~
. Wahd : 2012 (A) o W¥I-1 1 SW G |
Q =xne
=10" x -1.6 x 107"?

=1.6x10°=- 1.6 C; Ans.
. Hehd : 2013 (A) o W¥A-7 1 SW 2F |

1. (A) 2.
8. (A) 9.
- (A)
- (B)
.- (B)
- (B)
- (B)
. (D)
- (©
- (B)

D)
- (D)
(®)
- (A)
(®)
. (D)
- ©
- (A)

6.(A) 7. (0
13. (D) 14. (C)
20.(A) 21. (B)
27. (D) (A)
34.(C) 35. (D)
41.(C) 42. (D)
48. (D) 49. (B)
55.(B) 56. (A)
62.(C) 63. (B)
69.(B) 70. (B)

. Hehd : 2015 (A) o UI-4 &1 I < |
(1101), = 1 x 2> + 1 x 27+ 0x 2! + 1 x 2°
=8+4+0+1
=13

(1101), = (13),; Ans

. Hehd : 2010 (A) & TA-10 HT SW <G |
g fhet goaredt afgy & o yeifed e W HiE e ==
q @, @ qfuy ® G SR =N el Sl 2 | F8 asdt
T T 9 WfE 0k H AE YA 7 eeiq
cos F=0 :F:g
=k greell 1 Tl 6 fagid Wt W @ |
YeRTIT Scsieh STATE (LED) [Light Emitting Diode)— Scasi®h
SME Th P-N Junction SEE € S ferdlt srefemerss i Tiferam
SEEe Sfedd wiehEe ¥ o9 B
I :
(i) THHT UGN A9 Sesi H fRa Sl @ i s9 Sl

1 @Ud w9 Bl € T $Eeh! Mg A et ¢ |

(i) TR gfeat ¥ music system, calculator ¥ “f SHeRT
SUERT e ® |

Tifea faeesT ot fires Homm ® of
e faEsa iR HoraT
()@ 9w & wH 9| (1) 3@ U@ H I Foe
AR TmET A qgF T B R

TEHM oh § AR o T TR
fave & S @ |

(i) I8 Ufshan WE 9™ W | (i) TE TR TafEe ad W
e ¢ | & g9E R

(iii) wfa fomven fagaa o=t |(il) 9fd de=m fagea s
Atk Bt @ | ER

(iv) 38 T =1 fefm fan | (v) 38 v &t fafa =
ElC fFa s W ©

(v) SR ; Afoehtg RueR| (v) SR BEgeH & |

10. SR H Tt el # 3dfd § aR emgfa ufasw

1 mee* [ 1 1

AT 8elen’| n3 nf

()
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12.

13.

14.
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e (i) ¥ feord W
eidTer el ST € |
_me.e4 .
H 88(2)ch3 ...(i1)
THHTS.L ATk | €1l € A1 $EehT A 1.097 x107m ™ Bl © |
fopelt T R gealt o geashia & o aitErr R fRen w6 gof
3 59 il @ 9 e €, S9 39 T W gedt o Sleehid
aw FEd § | A qeel iR &

(i) T<eFdIa (declination),

(ii) AT A 99 (inclination or dip) eI

(iii) E%ﬁ Ea ﬂﬁaﬁ'ﬂ &5 o1 Aifest sk (horizontal component) |

@) '[\37:5'11?[ (Declination)—f®dt €& T FaH AR AR

Jifersh AR ok = oh IVl 1 SU TIH H fKepard
A FEd ¥ | JuIRF AR, difad g o gl @
ofyem & Hehal € | o1d:, TRt T W fEe o g
oA o UREH o B9 W e TR S R

(ii) Ifa =T S (Inclination or dip)—feh&l &M W geat &1
RomH wee &, dfas fewn & e S i s @
I 3 WA T AN (T AH) S FEA © |

T AEE AE A O T H TE @ H AR HE A

FT THS! FEAd g FrhA & § T 7 A TR gk

& ¥ 39 TR ¥ Tfaiie 8

A e mwEg gEwd X

o B Mg o 9@

i 8 @ =g % 9ol

e ¥ 9 umd S @l

St § S G o gwe @

Tfq w1 forie wlt © 1 A uRd Sserd Bl @ | gEfaT 3R

Hot grrd o1 Fih! ¥R HEl Sl © | A gNd S Gl Bt

® T org 1 Zhel T B oel @ Wl @ |

Tk § SHE e R

(i) TME & e 9w H | (i) o g eemeA o

TEwR ¥ sl e frefafed 2 —

(i) AT™ & (Copper lose)—MefHe heatt T fgdtasn Fedl
% dR W N o Walled g W Sl S el § | 3H
R foaed-orsll 1 S % ®9 § &9 B ¢ o aw
&9 el Sl € |

(ii) A & (Iron loss)—ma?aﬁg(Core)ﬁwaﬁ
TRed o RO e~ aRid Ui et 2 fore faga-sst
1 &9 BT 2 | TH Wie &1 el S € qe 38 k9w
% AU e i TRAIR @ S @ |

(iii) TRTET &IOT (Flux leakage)—Weifher wd fgdiaes e
Y Hdg IR &F-1@ quid: hie ¥ T W S:
ag 9 e ot St @

(iv) ifrear & (Hysteresis loss)—dheell ¥ Weamad &R o
YAlE & HRO A8 HIS Fesh-=h U ToRdl € q1 Yeieh
i 5% § S w1 aE Ea § 9 e e we S
2139 &7 W FH FE o fou fafasa-adigl & Hie &
e fohan Sl 8, iifeh goent 9ifored-o[q adell g € |
ol % &9 BF W o sy T ¥ @I 90%
T 1 T (efficiency) WIS 1 STl © |

TERTIT ST EUT—FTHT=IA : FTENT TehTeT i ST WShTIT el

ST @ | TIEROT YehT o a1 TR0l o oIreidd qcl & oh i

ad T 8t faen o HifHa T &1 =T TR H Ev wal

ST T T9 W hI gfad Wehtor Hel S g |

s h3aﬁ%ﬁm€ﬁ'—raﬁmﬁmﬁ

o

et .
| AL e

15.

16.

17.

18.

19.
20.

o weena wW—faEgd gEeE o 9 adl g S
TH-gH ok EEd ddl H fagd & iR e &9 *
SAEFH A W aH B § a3 Ser @ =R w1 faem
o e B € |
o ot T H uftadt faga & den aiadi g e
TH-TR W addd 84 ¢ | Fafd & foga g @& o
T YR e W g—
1

c m
31 3T o o Tafom swmehrer i fogaefierar qen grman
R sk Fa ©
W@W@?%Wm%,@}gﬁ(dwteron)
I A (ions) T ITH TAS WIH FA ok fow @fE
(accelerate) T ST 21 3 ek wur-EiT (charged
particle accelerator) it el STl ® | A HTEAT Gaelt
A oh HH W AlS aen faferae= 7 39 HEF 1 fmio
ehferthitan fagafeame™ & 1934 § feran o |
WgaFAZ @ ETelgar (Limitations)—38eh gRI @it
ST I TETH Sl WE HH H1 TH HA (limie) B © S
HerrE o qROTEl W aenid € | Afg iasiiel wu s e
(v) TR T T (¢) T HA hi B, A IURT FHHN

Mo

v2

6'2

B ¥, Fold: TR § WEaE S ST Segfd A W
it &1 S ?

m =
1-—

gB v
f= 21ty l_c_2
Teed:, Vagd ¥ e st Sgha ae sTaA & ufeha sTgia
& o9 gHe T8 ® U |
fean T R

C=6uF=6x10°F
faqa=R (V) = (20 — 10) volt
=10 volt
Hafa & et ¥ gig
1

Ecv2 = %x6x10_16><100 =3x10"j; Ans.

it ufedtg—a9 uerel fe fog o wonfed e & %a

ﬁaﬂnanﬁm[h%]mzﬁm%,e@aﬂmmam

21 g VR 1o a9 @fen T ure el s g @
Il {Ul—wire, resistor.
-3t ufadte—os oeiel o1 gl T8 o e € fee
foTu V ~ 17w Wt g &1, afcw g stufd sReg g
® | ok feAu/ue V ok die FHAIqeRdl el BH o RoT 3|
% FEw, o9& g 2 3R et whiiw wed €
JleUl—vaccum tubes, thermistors.
Herd : 2020 (A) % W¥-13 &1 I < |
o wn ?,
g empf (P) =2 x 10° C-m
6 =0
93 g8 o i frad ga e1mew (Q) = 0
rd: ME o YHT 9,
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fordt a3 98 9 TR S Ol i o T

o = i><Q=L><O

Ans.

21. HeRd : 2009 (A) o W¥A-12 T SR H |
22. HeRd : 2012 (A) o W¥A-13 (1N H S| <H |
23. MG 49 H WX YR o g W qEl o @

(1) fHee 3fegm (Short sightedness)

(2) <& gfedm (Long sightedness)

(3) AR (Astigmatism) (D
(4) s M (Press biopia)

Trere ?;FE‘qﬁ'ﬂ'(Short sightedness)—s9 i RES g ke 11 1

feord o ol T ®Y W @ U B | W BT gt bl P=7=5"7 (2)

wWe w1 ¥ TE @ T €

g AW fFrefafad @ o ¥ g B

() ¥ &g R Fen & fw w gh WG S
(ii)ﬁ'ar?rer W@W@ﬂzmlﬁﬁw

SUTR—3H 9 Sl R HE o Faqad ¥ (Concave lens) 1
W feRer S

24,
25.

e (2) ®1 Weg ¥ e gfedqm & W FH F fau smevasw
3T ofF I Fd W fRAT ST Fehdl €
WW(Pressbiopia)—%’Hﬂ'q@ﬂiﬁaﬁ'@ﬁaﬁﬁm
& W R F IR H TR TY Y AL W@ U | TS I IY
T o TA-WY JFT STTLA | 7 G i THSH &IHA HHSR
& WM % FRO IO TN T | 399 E ok Feke fag o
we-we R fag ot gefed e @ |

SUTH—3H 9 Hl R A & a0 a@iwewa (Bifocal lens)
1 SRR fral Sl ® |

JIfeIgehar (Astigmatism)—39 <9 ¥ I sifE T & T W
feord TR daad el B T WY e 6w ged @
7ot =f &ferst Yt T foar & € @ et T s
B Sl B | UE AW wITA w1 AfdS TS FeaER ashdl o
A B S % HRU 3O B @ |

SUT—3H 9 &l T HH o [T SRR | 1 940 fohman
S ®

Feha : 2021 (A) & TII-25 F SW G |

TUTUT-TUTR A1 Wiehe—aN foaan fo faedt geedt =0
YR (inductor) ¥ 7 € Wellfed el & a1 39 &R o HROT
Feell & Jw B W Teig Gk W @ ® | A e §
T H FA AN Al ped Gelg Tl No &1 | ek e
ﬂ'ﬁlﬁ;&ﬁﬁ?%%ﬁﬁﬂmwﬁﬁm%ﬂw
T ',3‘IT‘T:

F =—x (Negative) (D N@ o<1 )

_ l:L Q) a Ne=LI ... (i)

wo(z)aﬁmﬁwéﬁaﬁmamﬁwmm 0 L:% (i)
2

<ret ?{ﬁE‘qﬁ'ﬂ'(Long sightedness)—s9 ks RES EIec] QS Eal
T TR 3@ UMl € e ke I aE] T @l <@ O |
TE N frefatEd g HRON 9§ BT

() T &g @R A & o= w1 gh R T S

(i) 99 TG H BRI M GHHE F q€ S |

Eﬁwﬁﬁwgﬁ%aﬁﬁwgﬁﬁaﬁmﬁm

el LT Tk € e sheelt a1 9 1 wORuT-TuTieR @
W(self—inductance)%’[?ﬁ%I'?il'rilz 1A= ?ﬁ,L:N(p
B |

31a:, foret URT i TR SHY WG o1 Gaehta Telad
& WSS A % SR BT § Afe URE 9@ vargd o
Tehich & |

iz IR o Fecht ¥ yerfed o wHF & @i uRafad &
Hdg T (No) H ufadd g+ & #ro1 9 o I aes o
3= B | er: B o g fEm @ Wi o wRer 9fd
fogd-ames o

d(Ng) _ d(LI)
forest Yo W freR & a9 e % 9 frert 3 &= T T - (i)
SUTUR—39 W & L T & AU 39 o9 & T fma dl
R g, =—L— (i)

dt
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HHIHR (iv) o STTER, IS % =1 A58, T g, 1 HEATR

TM Lo A o o0& g | 37 fehet sheett o Ui ot witehe
(self-inductance) ¥R fagra-ames @ & WEATHE WH h
ST BT & Afe SOH amRT-ufierds @t W0 ¥ Ui &l |

RFHA (L) F1 SI TF Jai-Thi TTaR-1 (Wb-turns A™)
grar @ o 2t el S ® 1 3/:, 1 H=1WbA™

YRATeTeRT T Slehe (Self-inducatnce of Solenoid)—H
feren for weh et aRIfereRT ST TaE [, ST HEA T Fad N T
&1 e forn fF s [ yeera @ faga-em yenfed @ W@ R
ufmifersht &t Wfd Ui oErE § W W ' = N = N/ 9
gfTfereRt o6 3faX Jahid &7 1 AN

B=|J0nl

Ril B=Mo[¥]1

e Ukt o ST AT IS (air core) B TSTEeh! Heeheierd

Ho T 3T THH T 4nx 107H m™! B 2 137 afefersht

ST FREA S TAF W O g Faha T

(p:BA:pO[g)IA'
31q:, UfAfetsht | BIRY el Gachid weiad

N N2IA
= No= Ny, 7 ]

TR I YR TR (i) W uffersht 1 e

g iAot 1 wie y Jaskeficiaame feedt ugret &1 &,
RATTTRT | TR T[SAaTel el Gashid T uN2IA/ BT ae
iAot 1 e

1A=

UNZA _pgu,N°A
l l
Eidl u, IS i U FaReiern (relative permeability) 2
26. <ifseet @t wrE-fafir (Working of A Transistor) :
n-p-n ST & FwrE-fafe—n-p-n Tifsrex &1 wr-fafy w1
ol g1 fafq= fo=mat (configurations) &1 fearfa & fan <
THA B—
(a) St o8 fafa=ma # n-p-n Tiferey wit wrd-fafi:

L =

o7 1 (a) ® n-p-n TR & I9AfTS 99 TR (CB circuit)
o1 foga-ufuy em@ vl € o seet & fafa o= 1 (b) g
9SS TS © | ISR EH oF B % WIUE ded X g o A
(forward baised) feerfa & @ < ? difk N 9w 1efd o9 B

-fa9e I qAT n-9TT, AU ScESIR 3Teq RU-fadqa T B | 3E
W,é?ﬂYgRT TOES C 1 99 o G 9vE AT (reverse
biased) ferfa & @1 wmar € aifeh p-wim, tefa <9 (B) kU1 fave
R A 197, AT HORES (C) 3= oF-faqa W & | 38 UHR
e (C) 99 (B) o WUY Iod oA (a9 (V) T IOHA
Afia e el (B) 99 (B) & 19T oTUelihd 3T ul-favd
(Vep) W 31 atfrra feafa & e 7, srefd v, >> Vi

fafers (Si) o faw fa9a-Tr=i (potential barrier) 0.7 V
7, T Vi B10.7 V ¥ 1k B9 W ISl o IgHEAH T
e (1A AR Vi, o B0 e § faenfia el SR
Jpp T SR TAElie B9 € qen 39k faTE-WeR F IR Hh 99
(B) W 7€9 W € | 99 9gd Ueell (= | pm) A1 9gd et Hifkd
(lightly doped) &l 2, 31d: Ic@sieh W eI SeAa2l i 99 ok
Bl (TgEEAS Ay desh) H faefiq gF 1 e sgd +7 Tl
2 | SfeehieT Teia TIEH SR J ., I TR H HIEH (C) H Faw
T S T | T Selae [l ki Ggd % HEA €92l X o o e
SR STRfSd T ¥, T WUEH W [, o WU o9 R [, B
YTl Sgd w9 Bl |

3iqd: "uESd (C) H o8 ¥ oHaret Afafy et (guest
electron) SR HUTE o AT Soiai (resident electrons ) Hidehiod
B T SR A gl solag 92l Y o oM-yd SN SIe(id i € |
TH YRR IS Ud GURH o GgueAh SIEvl ded (31
TSR ST AT G T A Sedsieh £ YRl Y S § ael
TR | IS 8 (1) 99 891 (1) 790 99 &9/ (1) o
o femrd 7 fewnel @ yarfed €M ot € | feneerw o fEm @
Iy = Iy + I TN I << I STz [~ I, FEIG: A7, = 1.0 mA &,
@ I.= 0.98 ma 72 I;=0.02 mA (wm) |

(b) SHATTS SelSieh fa=md W n-p-n =T o wrd-fafi:

o7 2 (a) ® n-p-n TR F IYEAMS Sis IRUY (CE
circuit) %1 ToEd-em@ e € qen saet we-fafa fos 2 (b) g/
e T ¥ TEd
IS (E) &l 9 (B)
T e (C) I H
| FHOMHS fava |
@1 S € iR o=l X
BN SH-SSl  SRM
Jpp 30 A feafa o
B a "l (Y) g0 '
HOTES (C), IS (E) o WU TUeldpd oo ¥Alash  fovd
W R | o2 (b) o SIR SR qG SR J, 9 (X) 5 3
Afa 8, o7d: ScSlh o aEEEAT AN dTedh (i gore)
Vi o FOI-fEe | fTehfid Bl SR Jo, T SR T © IR
3o fawa- YR &1 9K &% 99 (B) | Y9 & 1 9 9
TEd T HEA § $B oo o oh dgHEAF SAEN ek (Ui
FIeT) ¥ WA HW ¢ S50k HROT 9 6N 1, Fefed w7 | SR
TR WUEs (C) W Wogl Y S ¢ aefl 39 91 oh Seloiq ol
(V) & 7 <fima gr ot = € f9ed wt o g, venfea
Bt ? | A% Seasi um 7, @, d fheeld o FEEEER,

Ip=1I+ 1
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CHEMISTRY ( T€rA fa519 ) — XII, 2024 (A) |

Gug- ‘3’ (TS U9 )
B fr=fatad g9 9@ 1 | 70 7k & Udich U9 oh 919 91
faeren fou 7o 8, foodl @ wer W&l 21 W9 gRT 5 Mg
TEIfaeheT sl OMR—yie W fafga ) fergt 35 womt oAt

Sty 35x1=35
1. AR fae@™ ... ® R T B

(A) T (B) AHe@m  (C) wIfw (D) AeR g0
2. HCITE H,0 & Ufseeifues fasmor & wear 2

(A) 48% HCIl (B) 36% HCI

(C) 22.2% HCl
3. 96500 Ferar ot fomia
FATE ¢
(A) 63.5 T\ el
(C) 96500 U™ el

(D) 20.2% HCl
@I CuSO, & faemw & ww

(B) 31.76 U™ dfe
(D) 100 9™ fe

4. TR A HT UA-TEONTH BT T
I A R
(A) n (B) 7 <G 1-A (D) n
5. ¥ Zn|ZnSO, |l CuSO, | Cu s foma s ae 1.1 dice
2| THHT hATS ¢ :
(A) Zn (B) Cu (C) ZnSO, (D) CuSO,
6. ATIHIOT AT [ faar ?
(A) e (B) RfEH (C) 3f=ace (D) EIhE

7. Tt uared @t srfafimr o av fasdlt @t
(A) THIY] FHEE T (B) TUged SHM W
(C) &9 S=qHH W (D) dfpa AT W
8. TrAfafed o i a1g wraT=a: R TaweT ¥ UTar Wi § ?
(A) Cu (B) Au (©) Al (D) Fe
9. frefafaa ¥ & w97 ¥ & ?
(A) Tt oes @it € (B) weft @i omes ©
(C) T WSl 9%k &1 8 Fehal ©
(D) U 377 @Sl Tef 81 Fehal ©
10. Frefetaa arqeit # foweh frepdor & Se@ arged @t
UGN BT € ?

(A) @Rl (B) T () faex (D) wWifeaw
11. Tl S 3rem-3em o1q Suferd Bid &, 9% ok © :
(A) U (B) e
(C)ﬁﬁm (D) FHR TETLE
12.152 25% 2px! 2py! 2p7! TrAtaAfEa o ¥ fem aa@ @
TR +eh fa=ma 2 2
(A) SAfFHSH  (B) TEgNH  (C) AN (D) %A
13. Ffafaa o e TESie T ATEeS EdHareT 19 § ?
(A) TTEfew TR (B) TregH SileTEs
(C) SEAEISA CRAEEE (D) SEAReSH
14. fr=fefaa # foraet sva ool qed 3tfies 2 ?
(A)O-0 B) S-S (C) Se—Se (D) Te-Te
15.Ni (CO), ® Nla?r 7 aaw%:
(A) O © 2 (D) 4
16G|F«ﬁ?zsﬁﬁﬁﬁ1=rﬁﬁ fermat HieR fae@ wereRea
arfeer 2 ?

(A) [Pt(NH,)]CI, (B) [Pt(NH,),Cl] Cl,
(C) [Pt(NH,),CL,]CL, (D) [Pt(NH;),CL,]CI
17 K,[Fe(CN) ] &t IUPAC =™ € :
(A) TIRrEM HEEAES (B) Ui wiEmAEe
(C) R TP (1) (D) WRmEE BerEERee (1)

18.feretfie B, ¥ Suftera e @ :

(A) FideE  (B) HHRMEH (C) el (D) frerat
19.[Ni(C,0,),]* ¥ Ni &t d@<&" Wem ® :

(A)3 (B) 6 ©) 4 D)5
20. CH,

[
CH,—CH—CH,—CH,Cl & IUPAC "™ ¢ :
(A)lwﬁﬁzﬂfws{fﬂ (B) 1-FARISTEHI Y=
(C) 1-=R-3-0fad &4 (D) 379 9§ HiE &l
21.C,HBr + NaOH — C,H,OH + NaBr frfafaa & fa
Waﬁarﬁﬂm%’
(A) SRR fatemm (B) fasheiel fawemm
(©) (A) ¥R (B) Tl (D) T8 ¥ *E &
22. ¥ Frfafaa ° o gee Tar 27

(A) TR @ (B) HeGdANSH T

(C) smfvae & (D) ®1gs @
23.NaCl 7@ &t ET=AT § ¢

(A) SZHIUE & ek (B) Weish ohisd FMIEHR

(C) o THqe™ (D) fis hfsa TR
24, frefafea § @9 @EE 3| § 2

(A) & (B)ﬁ-cmz

(C) TR THE

zsagmaﬂwﬁﬁﬁﬁm%rhﬁﬁﬁﬁ@?ﬁ%7

(A) 6 (B) 4 ©) 8 (D) 12

26. Tert Taetam & WIEUT i SIF HTT ST HKIT-HT dUHT U7
Frofr =&Y wear & 2
(A) Held@l  (B) qHerdl  (C) Wl (D) HieTerdr

27. Trefafiaa § e USee Fram & gareres faerem gomtar & 2
(A) C,H, T2 C,H.CH, (B) C(H, @@ CCl,
(C) CHCl, @1 C,H,OH (D) CHCIl, @& CH,COCH,
28, Foreit e W TR @ W fefate § § fae
HRTOT B GRT o Tewar Srar € 2
CR
(A) m=—=

T cr RT
= (B F=RT (© m=— (D) "=-—

29, frfefiaa o fermant srfaferan Ufeewer 3ees ¥ w0H

BT T 7 ?

(A) T Ag,0(B) 3T Ag,0(C) % ZnO (D) & ZnO
OH

30.
|

CH,—CH—CH,—CHO & IUPAC "™ % :

(A) 2—@3@%@ (B) 3—TTEgIeA

(C) 2-BTES oAy (D) T 9 HE T&f
31. wTHfeE ek SAmaTiieR AW

(A) BIHEH 7T T (B) THUHTH

(C) 40% ASTA & Selid w1

(D) TNIHTHICEETES H

32.Ueh TfeeeEs o 3iferiiehlor & Ui Erer ¢

(A) TF TeaEd (B) TH HieH
(C) TF EeR (D) TH 3T

33. FARE AT § WS SRR i TRfRar Bt §
(A) wHfcese 9@ (B) THiefeerzs @
(C) THRER 9 (D) difeesEs d

34. 69w & W G
(A)CH2n+20 (B) C,H,, 0

(©) CH,, M) C,

351:h'rFﬁ352 > ‘mﬁi‘@mggaﬁﬁm%%aﬁmgm
favg ferar < wWehar 2 2
(A) sHfgFe =ia
(C) 2felq o1 AferHe
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36. Frfafaa o fra Ufewa Remgs 1 wienv Sy 1 fsran o
BT gt § 2
(A) (CH,),CHX (B) CH,CH,X
(C) CH,4 CH CH,X (D) (CH3)3CX
37. A o ST W B ERT JTAHIOT | 7T ©
(A) THifeei® (B) Threfm  (C) weA (D) HeA
38.9@ TS SHEE st ifufgman yrek faeaR ofewmsE W@
A S §, A S ©
(A) ST 3R (B) Ul
(C) TeH (D) o
39. ehra NfeRtes #
(A) = CaCl, T "WEHCl (B) R ZnCl, T Hig HCl

(©) aw;‘Ala Hg HCl (D) e PdCl T wis HCl
40. 5272 A & Th
(A) IEET q@ﬁm: (B) Yohuell Teehreid s
(C) =frrlt wemhieta (D) SEEEfgH Tehisia
41. Frafafaa § ¥ @ =BSradt temeia § 2
(A) CH,CH,OH (B) (|3 Hs
CH;—C—OH
[
CH,CH,
(C) CH,OH (D) ?Hs
| _C—
CH,OH CH, <|: CH,OH
CH,CH,
42. CH, T IUPAC 79 £ :

|
CHy—CH—CH ,0H
(A) 2-Hfore—1-gri=re (B) sTEHIAfcal Ueehlaial
(C) 2-ufeet-]—= A (D) 319 ¥ & T&
43. T <t T A whiea e W g syfien famar g, S8 €
(A) faarf A (B) faerfmw B(C) faarfm= E (D) faarif= K

44. FAAHA-T & Teh :
(A) ; (B) Ulrafesn
(C) TSI G (D) Uurfes
45.3EIA T qar o Fowent suam frafafea § faas
TSt W BT § ?
(A) HaAfEn (B) TITAHEE
(C) Fiew (D) S[FaIEE
46. Frfefiaa ® S T Towremss ¢ ?
(A) A (B) WgdH (C) ®phd (D) 39 ° |t
47. frefafeas § @i grefae @) 2 ?
(A) SEEIdE (B) Treigteir™
(C) Uleiuforet= (D) SehelEe
48.T% oAl U S A I ¥ Ugw e 8, €
(A) Tferef (B) ST
(C) tfefawm 3t D) SAZErdH

49.F,C = CF, ﬁwﬁ?ﬂ"@aﬁﬁﬁwuﬁm%7
(A) éqam (B) T@ERA (C) TFAH-6 (D) FA-TH
50.tHifeer o Frefafaa ¥ froe agr wHeEa aivEs
& & & ?

(A) PCI, (B_)% PCl, (C) socl, (D) Cl,
51. :
(A) 3T (B) &I (C) SwaygHl (D) SSEHA
52. CH, & T&:
|
CH,—C—NH,
|
CH,
(A) WG THE (B) Hehvusd UHIA
(C) <frrdy W (D) T T

53, Uforer U Rl SRR 3T Teehlaieitd KOH & @19 T
H T A B
(A) CH,OH (B) CH,CN (C) CH,CHO (D) CH,NC

54. ffﬂa%u%fﬁmarﬁwi

(A) CH a% % B) (C H5)2NH ©)C, HNH% (D) (C H5)2NH
@‘cﬁ % ?

(A) TafT 57 (B) WEHASTE
(C) aveR S T e (D) TTEENH
56. Frfafea ® 2
(A) TTEE (B) WM (C) Gh™ (D) W

57. Frefafaa ¥ ®F wom wife @ sl T 2

(A) CH,COOCH, + H,0 —— CH,COOH + CH,0H
(B) CH,COOC,H; + NaOH — CH,COONa + C,H;OH
(C) 2H,0, —>2HO+O

(D) 2N;0: — 4NO

58, ot T ifE ot i S T &
A) Iﬁﬂ ! #1 B) #er! «tla!
() wreA ! wrg! (D) nﬁtﬁﬁ#l
59, ferit srfrfeam =1 & wﬂw ~ ka2 ¥, G
sfuferar =t ®ife ¢
1 3
(A) 2 ®) 5 © 3 (D) 1

60.W%Sfeter & SAfavivuT TWag & FER :

k

x
" (©xm=kp'" (D) ~

X

(A)m
61.39 ¥ :

(A) v o gfeifoq = (B) =1 ¥ URefya et

(C) a1 ¥ uReifua <t (D) a9 o ufefaq =@
62. Frrefeafaa ® i eraifrfoes wieies § ?

(A) 34 (B) ™ (C) ®Ew (D) G
63.3¢ fafy grr smifan & Sares § fefafea & foa

IATEH KT ITAT BT B ?

(A) ALO, %):[ Fe + Mo (C) CuO

1/n m
m_r
®) “=kp"

(D) Pt

64. MR 3Tt & STUET & ?
(A) HyPO,  (B) H,PO, (C) HPO, (D) H,P,0,
65.XeF, R HCT o S :
(A)?@@maﬁa (B) STERCTHTA
(C) aifaet™ (D) T8 ° #E &l
66. Frefefiaa § 19 TSN OTeR  STeRATeRTUT  JTaRT
yef¥ra &t wear & ?
(A) T (B) Br ©) Cl (D) F

67. Frefoafaa § faraarr s S0 9ol BieT § ?
(A) H,0 (B)_H,S (C) HSe (D) H,Te

2
68. Freafethiaa o foradl st goreil o W SR & 2
(A) Mg (B) Ti** (€) V3 (D) Fe**
69. HITHIH R SNfehan STTSETRIUT 3Tawe B :
(A) +2 (B) +3 (C) +4 (D) +6
70.Cu?* (Z = 29) == ¥ Igfma 21 W HET ©
(A) 0 ®) 1 ©) 2 D) 2

Tug-‘a’ (IN-augfs uvT)
By §E 1 ¥ 20 s 1 fR=l 10 woat & 3w Q)
Tk U9 & T 2 3fe fraifa 2 10x2=20

1. wifder QA sifafwan @ 2 2
2. frefafea Fifl & IUPAC 9™ ford |

CH, c|>H

|
(i) CH4—C—CH,OH (ii) CH;—CH—CH,—CH,—OH
|

CH,
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3. DNA ferfafen &t swfimr @1 v & |

4. ffafed & TH-TH S T
(i) Hyafud sgas (i) T g |

5. GHHU ded e Afew w1 i w=i e © 2

6. S TRH] HEA (EAN) &l e &Y |

7. F,, Cl,, Br, Wi I, I See o & sgd %" o TS|

8. Kr(Z=36) T Xe (Z=54) % gt fa=ma fag |

9. Hie YU A ?

10. 99 G % AUIF AT ® Hay H Tsee H1 fem fog |

11. <ieaeh 39 fohd #8d € 2 TH ST < |

12. Hizeht 30 R wed € 2 SSEW o Wi oA e |

13. USHES TThT0T I & 2

14. dicfierEe 99 fFE YR o7 © 2

15. @R & 3 %kl & 90 & g fod |

16. Ufafm =g & fshdon o weeEe Tawh & 3w =&
ERIESIGI

17. @R ¥ S o o Gy § faga-amatis fagrea &1 s+ |

18. HieR =Tefhed WAl 1 N YHE TS © ?

19. fifier stfereiio @ik Tt sifuiver § geg o #= @ 2

20. s A w2

B 99 21§26 e < STd W9 & 1 5H hife o Tedleh W9
= fog 5 ofer Treifia ) fR=i 3ol & s €1 3x5=15

21. rfafswan = a7 | 9 N GHE § 2 SAtAteman an fhe-fea
ol TR e ® 2 e

22, WA F? 2 HUG UE HE H T8 fhG YHR w1 w7 2

23. ¥R fafa @ smiftn fmfn +1 fagia fad | 98 SR dohe
e ¥ e yeR stfufwe w2 2

24. WEHA, Gehvedt we =¥ Uokhiedl | eg oy fase w2

25. fr=fafaa = SsRew gfeq THsmET .

(i) Yesia T&m
(ii) Shfremy saffema |
26. fr=fafaa s [UPAC =M fod :
(i) OH (ii)?Hz—COOH
|
CH,—CH—COOH CH,—COOH
(|3|
(iii) CH—CH—COOH (iv) CH,—CH=CH—COOH
0
I
(v) CHs;—C—CH,—COOH
SAHTAT (ANSWER)
1.D) 2.(C) 3.B) 4.(A) 5@®B) 6.B) 7.(D)
8.(B) 9.(A) 10. (D) 11. (D) 12. (C) 13. (B) 14. (B)
15. (A) 16. (A) 17. (D) 18. (A) 19. (B) 20. (C) 21. (B)
22. (B) 23.(B) 24. (D) 25.(A) 26. (D) 27.(C) 28.(B)
29. (A) 30.(B,D) 31.(C) 32. (D) 33.(C) 34.(C) 35. (D)
36. (D) 37. (D) 38. (A) 39.(B) 40. (B) 41. (B) 42.(AD)
43. (D) 44. (A) 45. (D) 46. (D) 47. (A) 48. (C) 49. (A)
50. (D) 51. (D) 52. (A) 53. (D) 54. (D) 55. (D) 56. (B)
57. (B) 58.(C) 59. (D) 60. (A) 61. (A) 62.(B) 63.(B)
64. (B) 65.(C) 66. (D) 67. (D) 68. (D) 69. (D) 70. (B)
1. Herd : 2010 (A) & W¥-14 (37a) (i) T SW 3H |
2. (i) 2, 2-SEAPE-1- WU (i) 1, 3-FAeEsia
3. DNA frmfiifén & suam—se & gmifses iR e

uftfearfaai o fEmfufen =t ufewan fasm =t w& orga wd swmh
31 ¢ | =39 fafy &1 =aer feifed sh® YR & Sifed Sasml &
goge g e

(i)ﬁr\h@ﬂwﬁﬁms@nm@ﬁﬁmﬂﬁﬁ
o ST ©
(ii) THED i SEHLDNA i G fohdt off < safaar
ﬁ@sﬁﬁﬁ%lm:mwmmﬂﬂwﬁwm
Hehel © |
(iii) ©fETer AraT-fuar o 9= o DNA fRRifaT & onem ™ =&t
1T =1 SR T %1 ST Hehall © | 390 H Sr@eel @
gﬁm%ﬁwﬁawwmmﬁaﬁaﬂm%@mﬁw
|
(iv) ga Al i TE-TE1 SHRRI 37 Jd 371 o DNA T
% )1 off St @ 1 OE oRfeerfa @ ga safs w1 DNA ey
IHeh TSEIh! Heiledl oh DNA HT=H1 § foeian < 2 |
(v) Tt Ham = @&t arar-foar =1 39 of 36 fafyr < g wr
e e © |
(vi) = | Uged-feieor & Amel § goent SyE fan St 21
(vii) e ST o AT T 1 GAR i W AEEE € |
4. (i) HyIla sEeteh—od gesh o1 Fanmeen | sHmen Sar
2, Wyl Sgeish HEed € | S—PVC, SR, TRe,
SehellEe &g |
(i) TETT TEAH—HETT TEAhl N W gl He
g hedld © | S uifee, Wifduage &g |
5. d—sdteh o I (HHHU a7d) AT ¥ Sifeet sl A eyopst
1 Tl G € | SHR SR T © TR T (n - 1)d 9 s
ql np At & =g FHHT ok aR R (empty) 3 en
900 (half-filled) 3fifeeer Sufkerd T&d € | 5@ Afdiier, 57 el
% P Bl (small) 91 S== T&¥mET (highly charged) gid
& fogeh SRo 3 o Tgel g YSH s@ied i (electron
pairs)aﬁmﬁlﬁﬁwiﬂﬁﬁglﬁﬁgﬁfﬁqu
e S A e i e (ligand) FEd €
6. Tehd : 2016 (A) & W¥A-7 (@) & SW <H |
I, <Br,<Cl,<F,
8. Kr(Z=36) 1 seiaeiieh o = 152 252 2p° 352 3p° 4s23d' 0 4p°
Xe (Z =54) 1 soaRie fa=me
= 157 252 2p° 352 3p°® 3d'0 45? 4p° 4d'° 5% 5p°
9. WA-UATS (mole fraction)—fae= & faem =1 foams &
el s G dun faem o Sufeerd e Aiel wt den &
I I S Toerd A1 faeEe 1 Hie-UeTS %ed € |
99 o f& fao=m ¥,
foe@ & Hietl ®1 "= = n
foeas & Al ® H@m = N

- oo =1 gia-u9e =

=

n+ N
N
focta® &1 Ae-gar = ——

N
ﬁﬁﬂ%ﬂﬁwﬁﬁéaqdﬁgwaﬁma—ummﬁw
1 & 2 |
n n n+N
+ = =1
n+N n+N n+N
10. HeRd : 2014 (A) o TH-26 T IR 3G |
11. Herd : 2022 (A) & -6 T SW W |
12. Thiceh! ST—3TH TF ¥FEA R TF ROmEA o10H fAwifa
T ¥ g2o fonted | e B Wd © | U8 B WS 4 S
% fuffia wore w Rfsal 3= 8 9t & | 39 YR 9§ frea
¥ 3@ Y Whicshl o

el ¥ |
o Y 99 st A o
ww%ﬁ'—lﬁmﬁaﬁrﬂ ®
SRUEH SHH - gofT, NaCl
WCsCl,Wﬂﬂﬁw. ?

foreeel &1 T HH 8 Sl 2 | : <
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13. ot ufoe FaRTEe &l SEei o et I faerad &t sared
21 79 foea o Afem dehe (ISF) H
Suftarfd & BRSNS 19 yalfed & W e FAREs e
Bl Ufeeeme o ufafdd & s @ |

R—COCI + 2H — 28359, p CHO + HCI
e FNEe THiefreee

CHg —COCI + 2H — 28889, ~y_ . CHO + HCI

arvﬁus‘s: [
75 Afufwan TUemmz  eifafwmar  (Rosenmund reaction)
FHE! © |
mﬁWﬁBaSOQW—ﬁrﬂrwmm%ﬁm
i 3fhd Bl Uehleld H qRafdd 8H § Ushdl €, iR
%@ﬁmmﬁﬁﬁwﬁﬁwﬁaﬂ

o

14. 9IS THIA 31 1 Sgeh eldl € TS oreh THiH ereet THTgE
(—CONH—) a# g1 W& 3¢ T&d &, % UeEs 94 %ed
§|wﬁma§ﬁw§ﬁﬁuﬁﬁ%§w%ﬁﬁm
% —COOH 3 S[EH A
& TH A aﬂwﬁaﬁm (elimination) =T Qq?s‘s'% T B | S
T A T T YR UeES W8 § IS wd © 99 g4
TEUETES Fed ¢ | S0 & T, 5 Tesfid 1 —COOH
TR YeltH % —NH, 998 ¥ Y1 ¢ 79 SEIeRS (T
Telf) &l @ |

| \
H,N—C—C00H + Hfoclfcoou

[ \
farsfmﬂ gﬁﬁ]: 1 e
el
HZN—C—C—,\";—C‘—COOH
H H| H
TETEEE A
(TETEEETET)
TG YR T, IR q01 UrE THHT 77 TER JE : TRUREE,
JoUwrEe qel Yeriwrge o i w ©

15. & o 31k : 2HEe (Fe,0,); Tese (Fe,0,)

16. HeRd : 2019 (A) F Y¥A-18 HT S T |

17. S @ @t fRarfafa—aR § S @ E & T o
foea-TEmEtTR faeid &1 TemEdr o Huen ST Hehdl € |
R T AT & T o9 T R AR o I HT SRR
B 8, fos woeey 98 Felt oA | ufafdd & S ¢
T SR o A € |

2Fe (s) — 2Fe** +4e EO(FeZV | =044V o ()
Fe

3d:, 98 fa9iy T UAIE &1 HM HE@ 2 |
I o TolaRd oG | B OTg % U qER WM W SR HY
E Y Sufefd o IS Bl S1ed FW € | (S ¥ CO,
% e ¥ FETR 3 (H,CO,) a1 € S 3T g1t HY
A @ T 1) T8 THU T kIS K KT K R |
0,(g) + 4H' (aq) + 4e - 2H,0 (1) E°=123V  ..(i)
GEYRTT (i) 3R (ii) 1 Sie W gyut siffewan o1 geertor g
T € | ST
2Fe (s) + O,(g) + 4H* (aq) — 2Fe”* (aq) + 2H,0 (1)
E° (¥d) =1.67V
FBE""OZ soar
| Rt R
Fa203f t
Fe Fe
RS

“a
2e 2e
- =

j P

sAfafsran § a1 Fe?* oA drgAecid SfiadisH gR1 sfiadiga
TR Fe* 1ma § IRafdd &1 S € i o1q 1 Tde W eEeee B
HFEE (Fe,0,.4H,0) & &9 H <1 8 5 & | 3 ST Fgerd € |

2H,0 (O,+ 4H' + de)

18. a1 SigM W ferad w1 wietehed sigal €, Wit aqdl agH o
forIIST B & SROT ST Bl W& dedl © 91 S B Heq
SR Tt St Tl § | 39 HRN {1 Heished gl ¢ |

19. e : 2013 (A) o TYI-4 1 I =F |

20. SEfEA Ta—8q 1827 3% § T@e
A A SAfagesRi w1 qed d e
Y STacIftad 9o & H01 & STEqT
® Toee®q qEl fe U s
sifafia &9 § TEE w©d E
9 T 1 foen IS @ agerdt wt § 1wl § off 36 yer
F1 Tfd gl S © | N H adHH 59 YRR H TG I SHR
SMTSFREF & 91 W FEFRE 1 #8d § |

21. Eehd : 2022 (A) o W¥-24 H I <H |

22. Hehd : 2023 (A) o W¥-19 1 I <H |

23. Hehd : 2022 (A) o W22 1 I <H |

24. Hohd : 2022 (A) o W23 I I <H |

25. (i) Uosiel Ha—a TR W a1 UfeesiRe a wieM

T YHR I SATHHA 1 WG w § | 39 Atafma
T T o1v] tfeeese % A [ A HIHl & qJ &R
Iufeerfa # a9 § foran w0 © a1 Ueeid oA © | 98
sifaferan teeia Wome Afafwan weard © |

RS e NaOH
& H AM—CH,— CHO Tt -

s 98 il
- CHy -i —CH,CHO——F—~

g Gt
(@) .

- CHy— CH = CH—CHO

(T W TR)

N i 39 NaOH
CHy— G+ 'HCH?T“CQCHG —
OH
-H,0

cHs—c]: + CH,— COCH,
E

4-3«#‘:55;?—44;1‘%‘ FA-2- A (FEE)
GHy—C = CH— COCH,

CH,
13 F2-3-T-3~3R
. (e TR T :
7o7fq U feeerse a Heq f9 o-gEgisH Sureed B
2 o Ueeid Heoae Sffafsma Y| & © | U0 Ufeerss
o o—eEgeT T B ? 9 Ueeid geeE wefiE e
F T | I™EWI—CH;HO, HCHO 3f |
(i) FeRd : 2022 (A) & UTA-14 HT SW G |
26. (i) 2-SESIHAT HUATH oA
(i) =R 1, 4-TE3AEHh 3T
(iii) 2, 2-SEHFIRI 3OHITH 3T<A
(iv) 2-2HIE® TR a1 FJ2-2-TA-3Tgdh 3T/
(v) 3-ffedt oxEs a0
EEE
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BIOLOGY ( SHafasm )— XII, 2024 (A) |

10.

11.

12.

@ug - ‘3 (TS UIT)
Trefafaa wo 9= 1 @ 70 9% & U W9 o 91
o faemen fau o ¥, fod @ ww Wt #1 oo g =+
T wEl faehea s OMR—yie W fafea w1 fwt 35
Yol @Rt ST S 35x1=35
TohT-1-U2Ifewi= @t Su=ifiar == & ?

(A) THRTZEE o SYER H  (B) STR¥M % SUER H

(C) AT U & &9 H (D) HYHE oh STIR §
Frafafaa ¥ 9 fea fafa gro <feee snat 1 yaed= gar
2?2

(A) TEHREIE (B) TIH%aR™

(C) PCR (D) H&d yaEd

ferel pH WX e ATSTEHIE o gRT WYATId shieTsTeh
W dfera g o § ?

(A) 3T=IT pH (B) &RM™ pH

(C) ST pH (D) g 3 fR ™ pH
TR oF Uil H AR o WeRHUT hl T 2q STNUAT
faeRToT ST WA foham Sirem & forms gaefn fafyre et
w1 fora WaTgsh gRT STe WA § ?

(A) Samsedt (B) EErRHE

(C) TERffymEn wieft (D) whidfeRfEm

AT ST i foRar o wRa o SRR e § 7
(A) 20 B) 15 ©) 27 D) 5

Trafafea ¥ @ M GTe Sioude SHaT Weielt wrat
%srrﬁ;mqé@ﬁo@ot—ﬁa‘faaﬂﬁéwﬁgmmﬁwh
o ?

(A) fo= wd grenfiert faum

(B) <& grenfirert fasm

(C) SHozoTHo

(D) 9N U FHEed

THea fagr o1 T forw &7 W SIEa™ ¥ e € ?

(A) TRfefaet (B)

(C) =i wifa (D) eTafemERt
HIV fr= o T RifYtent o 3mehuor ot & 2
(A) B-hifeTent (B) T-whifSteht
(C) sHifufee wifere (D) T-BTWR HITLTRT

Tt faerar erepTsifer dives eret R, UeT oF Uldeh el
H YT T FHEATdT B ?

(A) @A (B) Tere

(C) TT== (D) TR

TaE A (Robert May) & HR Afvaer wwita fafaear
fepert 2 2

(A) 7 Taferam B) 1.5 tafe=

(C) 20-25 fafe= (D) 2 THferEm

A H S fafasar fava it o s fafqaar &t
yfaera € ?

(A) 2.4% (B) 8.1% ©) 5% D) 9%
faeiftan sier st Taerfors wsfea o 200 9 3itfer srfaat
o faeaT w1 SRuT @& ar ?

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24,

25.

(A) wEfaqw (B) faceh wnfaai =1 AU
(C) sfa <ea (D) IErET affa
Frrefafaa o @i fageaeardt swrar st wror & & ?
(A) Sterem €99 @1 WM (B) SHRge

(C) SHEE faeme (D) el YA qeral H I
Frfafaa § SF-91 % 9 ©dt oF a1 W 36 ¢ ?
(A) TE THE T

(B) Y[ MURTRE Seq=1 Bl ®

(C) HareM w1 AfywHad ST

(D) M ARl T FAT

AUFHH oF O § FrAfafad § @ @19 w97 o6 § ?
(A) 9T Fod Hewqul qaieRoia &R ©

(B) 9y T Y@n 9 gdig &9 w1 ®WE T @

(C) %A Ha% 951 ¥ 9@d ©

(D) YA TETS o WM W %A el €

Tifea fagiuenl (22) =t faswfaa o &1 wE wian
TOT gRT fhe &1 w fwan wimen 2 7

(A) =E "R (B) WA R

(C) HHEE & (D) wRRerfae =)

e wafy o 3y fumifre ¥ SW-ud, SEE- 919 TE SR
3y ot o wAfeEl T UiavT HEST: Hed A W ® W U
yfefafaa wwar & wafy:

(A) 9g @ ® (B) T @I ®

() feem 2 (D) ifer &

frfafaa ¥ & siF S ¥ Teh S Yol &id ¢ ?
(A) WRId HEMENE | ool U 9rg

(B) IR

(C) T&ft wa TRt

(D) o=t T e

T Sl Ui Trerea: Hafaa Sfaal o |g-9rer @ ol
HITOT ST ot ?

(A) Tt 9IS (B) dHarem faursm

(C) RSfferar (D) SRS
ﬁw%geﬂﬁﬁaﬁ?—mﬁmﬁﬁwmmw
HIAT & ?

(A) oheeH (B) heligid

(C) HI®T dren (D) TR
Frefafaa § € 19 e § ?

(A) e T e (B) whash Ud fammy

(C) Sosh Td Siam] (D) ek, Sitam] wd fawm

Wﬁﬁaﬁ?mﬁ%mwmﬁ
2

(A) STraTopsrst (B) TS

(C) pBR322 (D) J-EAT

Frafafaa § 9 fea fafy 9 gt dww & @ 5
HIVTHT o hgeh H Ad:Afua femar st & 2

(A) TEHRTE (B) =T

(C) S ™ (D) §&H 3fq:aqu
é]@g%qm%@maﬁmw@w&ﬂ
w8 ?

(A) TTEHSTEH (B) ¥eeldl  (C) EUATS (D) i
Freafafaa § ¥ @9 pBR322H & 2 ?

(A) ufasfa =t 3aafq (B) Wfqaed e

(C) d-<ue (D) wfgsiferss wferiet =
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26.

27.

28.

29.

30.

31.

32.

33.

34.

35.

36.

37.

38.

39.

40.

TARGET QUESTION BANK

Ffg AEdr ST @ FravE Sgmmiaem wfaust S § @
fen s, @ gEtTe wnfsAs @6

(A) TG gfaty FuT ® S

(B) <TrEfaeH wfaly @uT = ST

(C) wfafafuerior @M & S

(D) T afie S wStga g

frafafes & | fea ey ¥ qroremt oA ateimRs
e femam et € 2

(A) TeRIEm (B) o ugfewd

(C) HIFRIEH (D) enfHaeifn
Frafafea & &M Ay wieae W gyt
27?

(A) TisfefEm (B) Hfer yffg

(C) TERffymEn wieft (D) e

Frfafaa ¥ @ wF-Ar o Ay &t Ufdenta o o) o
IEA T ?

(A) ST 1 srefeeell giasta s @

(B) TITAT #t UfThfd 1 Y@ TSEH AT WA ©
(C) ufaspfa § foret off Tordt & aRomTeEeEy Saftad e &
(D) AT *1 A efgdl W wfaepfd Taq e ©
frfafaa ¥ @ e USTE TEerEme AT & A eET
?q STERT § ?

(A) SIRTAY Tl (B) SRUAT Uiei s I

(C) RUAT el 11 (D) SRUAT Uiel st I
FT ITHMAL 3T T e ET Teh | 3Tk Uehel gRT giel
2| U9 i I &0 hed © ?

(A) sEfTy  (B) efUeifEd (C) e« (D) fafime
Teh AT U y ST skl ffrewt =R & 2

(A) e foeEEeS w1 % oA

(B) WHITS H Fe W@

(C) THTHR S 1 Fe @@

(D) TIEUfEES &1 e TEd

ISiiel gHTOT fehEeR oTeEae U It € ?

(A) i fawm (B) JoH® IR fage

(C) Sframeq (D) AWK fowm

T ®U GEAG o1 q9riet § ?

(A) qErt fawm B) fyart fawm

(C) FuMIdR faepme (D) WTeRH
ToRT-fert i T e g 2

(A) 18,000 =¥ T (B) 10,000 =¥ e

(C) 75,000 =¥ e (D) 40,000 =¥ g

I W TG W agem ¥ fowm faerfim @t unn sed € 2

(A) fofem B, (B) faarfim A

(C) faerfi= ¢ (D) forfe B,

frefafea o @ foa dRiEr W &d &1 & w0 o

TS FATHTT o Ui e st @S o ?

(A) BEhHE (B) TfHeeey

(C) wfreEs (D)

Frafafiaa § ¥ ST S & GYITUT Tl ekl & ?

(A) TSt (B) Wil

(C) uirifem (D) =fea

gﬁmaﬁmﬁ#{ﬁﬁwmﬁﬁmaﬁwm
)

(A) Fa% Hagq (B) SgEEThHAl
(C) qui Herhen (D) H&d yaEd
frawse Frefafas et § ¥ foraer = & 2
(A) T (B) ¥4 © %= (D) Wi

41.

42,

43.

44.

45.

46.

47.

48.

49.

50.

51.

52.

53.

54.

Trefataa & @ fwa qersiier oF WA & i Wisieh areid
gfarelt 9 et wre feram T em ?

(A) SRS Fol A (B) TEIfeeRTol

(C) Hatu (D) Ha% Hagq

EITAT o WUE! kT T TAIS i TF TARIRRIEE U g
W HRUT §, AT WUST o :

(A) U TEfe g (B) = AR B

(C) =mafera g

(D) T TE K O G AR B

frrefoafea § @ @F del § wifdes (aefas ) TR &

fo Seremt = € ? .
(A) TETTHT (B) vIoF T
(©) TH= (D) qperh (=)

frrefafea § ¥ HE-91 w99 3@ ¢ ?
(A) TREHTTET & A S o GERfeeeR W waifenn wd
?

(B) &1 3Iwfermsed &

(C) Tefora S, gt fawem & o] gw o [ ©
(D) FIHESHAY § STeilieh =l Siso] o §
frefafaa & & faa O &l Tt ot 3TdeR’ el SITar
272

(A) SApeft (B) =i (C) wver (D) URAtEE
Frafafaa § ¥ w9 oy semoreT e e =@ 8 ?
(A) Siqeedifaem (B) <dUeH

(C) Fg-= (D) =g gR

reasiett drelt W Frefateaa @ @ ferm wifvrent o fawrem
& qgE & W Ik T & ?

(A) HIFH HIfSTRT (B) S HIfSTeRT

(C) % Sy A IR (D) o e

Freafefaa & @ e 3is-weoa @ & Jer § ?

(A) TEH HITTHT (B) g

(C) wfaeAraia sHifsren (D) 9q&Y A=A
UH % S W Uveeh (ST ) Rl T heEd § ?
(A) or (B) st
(C)TsﬁTrISTIHTUT (D) ooia 18

@ﬁﬂw%ﬁé%m%m F, Wt TTest wet

et oft @ & frmeRr ST R ?

(A) geferar (B) H@YHIfemr

(C) Tqul werfaar (D) fawatq foagoest =1 fasor

frafafaa § ¥ &9 w7 o\ § ?

(A) @& 1 FEies ®RE B ©

(B) &N fafa® e ©

(C) o ¥ %R gl | B ©

(D) 3Tefiel 1 3T9E | HEHLOl B §

T 3uSgEd o frem @ wifyreR smam e g § ?

(A) 3Tclter =1 Gfmsor ==&l e

(B) TH I % efidl IH SR THA A B €

(C) refiel gl =1 STawre & Hehd &

(D)ﬁzﬁglﬁm@nww—w@wﬁmﬁm
NN

gomta @t e fagia feea wfqurfea famam ?

(A) Hed (B) HA WS s
(C) wrA (D) BT
frrefafaa § @ @M wmEe fawmr &4 2 2
(A) == fagm (B) FETheR fagm
(C) TR fa<sm (D) e



55.

56.

57.

58.

59.

60.

61.

62.

63.

64.

65.

66.

67.

68.

69.

70.

BIOLOGY -XII, 2024 (A)

SwAn 1 X-feor faemiw eiieret fmmm fomm ?
(A) | fafera wd Usifere Shewfer

(B) IR

(C) =meeH wd foheh

(D) @fcit

T ud | & yaEn @ et @@ on?

(A) ] 1 AR e € §

B) fommy 1 erafee Tered dien @

(C) Sftemy &1 Sefyeh uere RET €

(D) formmoy =1 erafers Tered SRTAT
Freafefga o ¥ & gaOR wieE (R wee) @i

g7
(A) UAG  (B) UGA  (C) AUG (D) UAA
SHUT JARTAY R o R e § 7

(A) ISIT TR0 ARTAT ¥ THAN 377 1 S

(B) STVl NTAT 1 TeaHH | S

(C) SINTAT 1 STIerE

(D) SARTAT &1 &G
Frrefafea § ¥ @9 @S AT ?

(A) TEE  (B) WM (C) FW (D) TEHIS
?ﬂﬁ@ﬁﬁﬁ%&ﬁﬁﬂﬁ%ﬁﬁo@o@o@om
X 9

(A) farsmEmEe (B) ¥HERE (C) =EfFd (D) wieeed
Freafafaa o & fordet wear widred o et 2

(A) IgA (B) IgG (C) IgM (D) IgD
R ?

(A) ®reT (B) &

(C) HIferES (D) &%

fereter whgror ¥ form v @t qfy gt & 2

(A) WEfEN  (B) EHES (C) TEH (D) =HCEN
wfar & fRa WE % W1, YUT % U wd Aot
forenfea gt € 2

(A) 2WE  (B)3WE (C) 19 (D) 6HE
frefafaa & @ &F 9’ 9§ WeReTiE |rfad sr
2?2

(A) TR g2 (B) ¥aq fug

(€) dm fie (D) WfHE ek
W%mmmmwﬁﬁv@m
2

(A) = fRle (FRm ez

(B) WM Yegfaet '

(C) HToTH™E HIfSTRTE

(D) TR &R (iRl T*R)

frfafaa & @ e wifvren nqfoa € ?
(A) et (B) wuﬁmm
(C) feiw sfes

T & e} FrereR T, Gﬁﬁ'{‘é‘ﬂg@ﬁ% 39 T FHEd
T2

(A) T T ST 20 (B) WNIERE

(©) weeft (D) fecig e

2001 Tt STRTUT o 3TTHR WRA i SE@ gig &F
g2

(A) 1.1% (B) 3.7%
(C) ST 2% D) 3%

frfafea & @ @m 3fa: TuiveE giw e drees € 2
(A) T 375 (B) TA WA Sf-20

(C) ferig =g (D) HRA

13

Tug-‘a’ (IR-Tge e )

B gy W@ 1 W 20 T oesaa wed §1 et 9 (10) weAt

% IW T v R & few 2 ofw fraifa #)
10 x 2 =20

1. ool genferd @ 7 2

2. 3R §l 1 R =i AB Ue Tl 1 Bfe) of 0 %, di Seh watal
o BfeR =t @ B ?

3. HHa SenEe favel v § W, e, HY[ U6 99 W6 HYA o
for g9 Wik &l A |

4. WFE SHE GRESH % e o § 2

5. SrHfafeEn o wie U6 e o g (Sfged) o w7 Hae 72

6. wsHifeam &t fafa= yenfaai o6 =M fog | gm0 (Aferre)
Tt & fau ®F ysta SeeEE € 2

7. @HfE gfg W fT SRl & g9E B 2

8. TISHEl STIpe i R & |

9. TR e Wiawem @ § 2

10. FESAHRA-T &1 € 3R $HR1 9T F © ?

11. Wt wd fgdaes Saksa = 2 ?

12. i@ goE F 8 ?

13. ST ©E 1 YUFIO aU foeriienor Sy wd © 2

14. ELISA &1 @ ?

15. HiTe (MOET) &1 & ?

16. WfasieH wefRRs ® Hd TH Ko S § 2

17. o SSTU] o i WA H1 9uE Y |

18. fg-fro=m =t = & |

19. YHIUSH (TAHSMEY Wfdd YR HIRTRT (TR
wieMEeE) Uwd fgdmew g wifwd (Fehved
wEeE) R 2

20, TR M w22 & F W wd 2

B 999 & 21 ¥ 26 a9 4" ST ue 21 gl 3wt o
I <1 Uk W9 o T 5 i frgifta &) sow sifrean
120 oTs5f ® g =fEw 3x5=15

21. S fafaen s g o RN w1 e W

22, Tr=fafea ® gfira feooht fog -
(A) BTERRE =h (B) WieIfher Hfaa |

23, f=fafea w g feooi fod
(A) Terstt (B) AU &t THEfH G

24, TN9HM S 1 FaeH fEeR o g0 sy feEn S @ ?

25, frafafed vl o S| T :
(A) ST T Tl ST o L § A1 § | ol ?
(B) 3TeRaA T o oA 9 ki gfireht oo 7 2

26. Tr=fafea w g feooi fod
(A) RO (B) T (3fEH)

JSATHTAT (ANSWER)

1. (A) 2. (C) 3. B) 4. (D) 5. (C) 6. (C) 7. (A)
8. D) 9. (B) 10. (A) 11.(B) 12.(B) 13.(D) 14. (D)
15.(C) 16.(B) 17. (A) 18.(A) 19.(B) 20.(B) 21. (C)
22.(D) 23.(D) 24. (D) 25.(C) 26.(B) 27.(B) 28. (B)
29.(D) 30.(B) 31. (B) 32.(B) 33.(C) 34.(B) 35. (A)
36.(A) 37.(C) 38. (D) 39.(B) 40.(C) 41.(A) 42. (A)
43.(D) 44.(A,C)45. (A) 46.(D) 47.(B) 48.(C) 49. (B)
50.(C) 51.(D) 52. (D) 53.(B) 54.(D) 55.(A) 56. (B)
57.(C) 58.(A) 59. (C) 60.(C) 61.(A) 62.(B) 63. (B)
64.(A) 65.(C) 66. (A) 67.(C) 68.(C) 69.(C) 70. (B)
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TARGET QUESTION BANK
9, WHa IR H Hifym AeHEd wiwen feamgomer § OT-

. HeRd—2018 (A) & W¥-1 1 ST <H |

2. 3R H°f 1 ®eR a1 AB TS fyar &1 R i 0 @ @ 39k Hafa

HT TR T A TMB B |

. AHa Semeet favemon ¥ gew (R) w4, E (AR #W g,

Yo &1 ¢ 3R T9 O A 1 9 ¥ whafted fen S €

. AME S IS IS 1990 % H g o1 | 9% TH

fovaedt wed © TS q&d SEvd WG SiAE %1 99U

TITeM0l HEA B | THHT YA WS Sad o SHieh e

1 T UM o HRUT IR STER o &9 § FF H gER

HET R

qHa S gREeET &I (Goals of the Human Genome

Project) :

(i) A HI¥RT H UMW SHeT! DNA | srafeerd |t i
(AT 20,000) F 91 H THHRT WK HET |

(i) | AFE DNA o fmior § ot Agers &R g (e
3 fafere) o stshHl ol f=ifa e |

(i) W SIHE 1 Akl o &Y § GUBU HL |

(iv) Geft stfemel =i fageioor & |

(v) Tavermm & faU U-U qehishl 1 SN HEN TS

(vi) T8 IS § STHaTel ST, wmEifeeh, Hfas @ o= e
& IR ¥ four X fofa o

. Bougainvillea T TfH Fal areft @l 7 S SR W A

SR Al 1 T o o W e € 1 s uhe s
B € IR Fell % T HE B T

Cucurbita@qﬁaﬂ%ﬁ?ﬁ%—gw F1 Gfesral R wa
wIfeer 8, SO—hg, TES | T A A1 H0iF B e |

. Plasmodium T T & S Bl &1 %R Bl ¢ | S9!

% genfaal B €, SH—

Plasmodium falciparum
Plasmodium vivax
Plasmodium ovale
Plasmodium malariae
Plasmodium knowlesi

3 geft yonfaat welftn o fafe= YRl & R & T ?
3R =Afed & IRR | Ufed" ek I w1 w0 99 Gehdt
el

gﬁq (Malignant) T o fau Plasmodium falciparium TSTfd
TR B

. Tufe gfg o1 SEEn 9fg W % HRH 1 996 = €,

S fefafea 82—
(i) e A H FY
(i) STETET =T FEO
(iii) g |
(iv) STH I
(V) I X
(vi) 3@ &1 gfg HH
(vii) TS gwed a1 e it
(viii) STETET 1 SRE-d@ME TS |

8. TRSE ST eher Tk TR 1 Hedl ¢ forad s Sfia e sfw

F WY WA % fIu 3 39Y oY Ui 0 % forw Hag g
21 TEH TH UGS R UH Helsiel B9 g | tH ufieds
el 1 ke w B gfaen weH #w ¥

10.

11.

12.

13.

14.

15.

16.

forrmraEed I o 7 | T-RITRTE Tk ook RITeeRet o
IR GRI WSl b Wi Widishan ek it © | HFE IR
o A9 A Tl Yok Ui o feIu STenT-eTer T-hif¥rehTd
EECI
Cyclosporin—A Teh Enfﬁ@'@lv_{ 21 R ¥ yorit@ &
STEETRTa i Uhe™ o feTq g8 <o 1 STANT fohan S € |
TG TA1 HT YA gk HifeheAse o e HareH | foran
Eic
ISl HEAd: T UK i Bl e—(i) Witk Scareshdl Te
Y REGIREISI EC
(i) wrerfer  SeaTEeRar (Primary Production)—?a_cclﬁ_cﬁ s
YRIRTHISTI0T Te TG AT (Chemosynthesis)@ qr
STl ! FETR (keal m™2) o ®Y § 9T ST 2 | SHTE
Waﬁéﬁm%g‘zyrlm kcalm‘zyrlqﬁﬁmw
? | FRITherged U8 FeheETeyul gR Td TEETEertt
STraT] STeRTaITeh Wel hTelfTeh UTel oF STaRiTehToT §RI Sl
1 ST HW B | AR Sl sl fEfafea am
o oo feran s Hemar 38—
(a) ThA WAMHS IcAEHal
(b) IS WeATHE ISR
(i) Tgdaem JdTgehdl (Secondary productivity)—-Sisl Eiica
eI I S hl SUNERIST o W W WO S € al
30 fgdioer  Scaeshdl #ed € | 98 Scaeshdl Gl UH
Y5 Sacwae § faufea 72 gt ® 1 mefid ' W
HYATa ehreltieh TeIel s SUAN SUHIRT Hd § SR W
3O IR o SIIFA TR™l o ®9 H WiAfad & o
2| fgdias Scsa wom goft & SudEet 9§ g
Uit TF YA qAF GO o IuEdS o e MG
Bl @t |
SIS 1 HIEE SfaET HE § A S| € | g8 W9 T
fafeer 3= Gordon Dobson & ™ W g3l 21 Th SieE
THE H1 HAeW B T AR 3Tk ST Teh SradT THE i
Sfyae AINIF 1 Tl 2, Al 98 Teh WX i Wk o Th
oM o WA E |
DNA @S 1 YU aol foaeniie o Se agd &1 deer
Tk F R ST ® | 9fqs qUefaeTest TSEH DNA i
oy T W FEH SHF THS HL A1 7 | WidEeEE TSeH
EN & T DNA ©S FOTHS SR el 8, 3He 3%
fogd & o wemH/sTenl W TS H WE degesh Welht
AT H THA T
ELISA It Site qebir ¢ o TSen—fose segAmiee
T % &Y H S S | 39 ST W § uhEiet, g,
TuEEE 3R WA H1 WA @H ok e feRr S
MOET—Multiple Ovulation and Embryo Transfer T Tehih
? 8 g @R Uy Saed ¥ wgw e S ®
TG qhAIh 1 ST et % Saed ¥ gfg w6 @i fae
el 1 GSiie ST W@H o fau fREr S R
Yiqeer TSTEH o MU § TRERTIR A1 1 Ugall ¥e] 99
(genus) T THYU TH TG IR UThgah! FIfeTemIat (prokaryotic
cell) &t wfa (species)@ fe=m = %, o 3 ERED fpu TQ
& | SI¥ EcoRI i ZYIRIYMN hielé RY 13 9 s fevel T % |
EcoRI § &0 ‘3R (R)’ RY U¥T (strain) § foran o # |



17.

18.
19.

20.

BIOLOGY -XII, 2024 (A) 15

Wﬁl‘ﬁ i G (Structure of microsporangium)—
TH YEU (typical) T SSTUEM YR | MeE § Yehe Bl
? S AR W Hee AR ® Sl € | g8 WERE: WR
Tt @ oga B ©

(i) 9Tl =l (epidermis) (i) Aqwehfam (endothecium)
(iii) 949 1TI'(T:T‘(middle layers) (iv) dten (tapetum)

el e o Aol Rd siqeeifaan wedrd € | uiuee e
R Eh! fafeai A el St € 1 sraeefifaem wifvemet o
TRATHRY o URYSE Bl THeaTel Tl T Hifvmehtafa gaeft
@ W € | 39 WM i RAHFH %ed § | Siqeefifaan wrmme
% TpeT | Ueg w T

e IRy I T @ S € SR gfg R @ e
& 9o  werEe g e € | i snifvenet w5 ged ofiad
A dien wEdr € | JUied i wifvemet § e SiegeT
B T SR G T UH QU A cheh B € | odien
HITRIE Tgehaen1a 1 Tgohseh!d da Sl © STl |IHT=T HITITehT
faursi o SN Shseh o faWSH % W] IR TRl
AT | 39 YHR THeet RIFTHIE fgohsh! a1 Sgehsehld ael
® W9 HEE IR U % SR Shesh o faWeE o
AR HITFRTA &l ol | 30 YehR Sdieet shifehd fgehseht
1 SghEHE o9 St |

S Tk WA STIRYFE Bl § dd SSUeH  shifvmehTd
AU % ohg H TEfeerd Bl ® | SIS iR
o faE B IE @ 9§

Fohd—2017 (A) o ¥9-12 (3F2E1) 1 IW <G |

W\’:ﬁ w1 fawE Fo SMfealISIeRIfeTaRTa (primordial germ
cells)@%ﬁ?ﬂ%IWM@?WGﬁ—WHﬁW@hase
of multiplication), Jf§ T 3TAT (phase of growth) T
gfaeedr &1 eTewen (phase of maturation)ﬁ @ B ®

SRR Teet TOUH &1 sreeen | yo9r &l & 1 39
fFan ® IR-9R fafSq B 3 TR TITeRTS A ST ¢ |
T D YGRS A T STt |l J[hTUThITTeRSI
B 1 f{01 3l 2 | F8T STeRTUTenI 9TehT A Tk et firetey
Y] Fel ST & ek YRTOeRITITS B IRafdd g
Wt YERIHINIR HI ®T HROT HAl § 1 wefusw
YRTRITSTRT oIS e TEa[fora eteran 2N, &7eifd 44 + XY (Fa
46) SHHEEE BT A W@ T |

TR YIRTULRITITRT STos &1 g1 a1 Hisfad faurse o yermn
T YTHS TR T RN, SR, YRieH, fewie qen
SAfRATET SU-sraeensti | Bt el § | Wthst &t I8 et
STEEAT 319 IS, TAHS e el § Bl g8 Hieay
faarsm #1 fFar & Q@ w21 G #osw sreeen 9
goft T-HITRE BT Bt € qen TRt YhIIR I (sec-
ondary spermatocytes)m'l?ﬁ 1A et Hﬁﬁlﬁo‘lﬁ Wﬁ
(haploid) BfdT & @122 + X 1261 22 + Y (et 23) HHAGEH
@& w1 o et ®

ffRIE et (Contraceptive pill) TR HEIEnCE DI |
afgerell g0 YA fRan ST € arfer Twfewen 7 8 | 4 @H
w1 feferan & &9 & Bl € 1 3 WieEr 21 A a6 wfafea o
Sl ® | 38 A =k o yUW uie oA g Ted fam
T € YIE F AeT | Madr T g1 o 9[ A F AR
% 9% (S| qA: 7S ¥E el ) 3% R 9 fern St
? @R 98 ®H a9 ah SR @1 Sl § W& e THAtRE i
AETIHA € | HA-D, Teelt anfg o FRiwes miear @ 1

21. Whd—2018 (A) o T¥A-18 (IUaT) H I|W G |

22. (A) 1UI'TTT!:'J'T\I'{'{:[5!'9|'T(Phosphorus cycle)—'fﬁﬁ}faﬁ T 9T R
foTu STeRTefeh HiThe (inorganic phosphate) T TTagHehal
B T | I8 SRR WiEhe WY qfF ¥ 9| Fw F
TIERRY, =Jfdsh I, HIORIAae, ATP, ADP Tl 3T
RIEhIh AN h1 Tk GEARAS AT € | HIERRE
Sifees &3 | Tk g gfen o 7 1 S F o= et
o Yhlae BIEHRE i s A1 Suered el § | 3
TEUl Al i STELAHRAN S ® Woh T H
w9 ¥ vedl ©

= C Consumers —~ T

4 Death E\ t
’,f = Uealh —_ xcrea Death
/ ' \

4

‘*_P—roaucers Decomposeﬂ/
[
o Phosphate and | /

~—. | phosphoric acid | -

in soil and waler
e N

Sail Bones and
erosion teeth

r
Shallow 1
|

marine sediments i
sediments |

Deep marine

l \ — -'- —
IE its |
Phytoplankion Death ossil deposits |
B L Loss |

(e1° j
o ercies L
haﬂ /
peatt -

Zooplankton =

L .
Marine _—"©%
fish and —

fish-eating —— § Phosptlale
birds deposits “.._raocks .

HIRRE 1 ed Ed dHed TRl § | UHid H HehRY
Sfaaed o ﬂg—'ﬁ"‘f AT (sedimentry salt)a? Y H U S
B T W WERRY U § gl BihS oEH o w9 °
STel R Sresiifa fepean Sen € 1 diel o wiehe wigeti § e
% WegH W UEA ST © | ARl § % 9¥ed GIERRE
TRl I HRE W FE(H HiEwE o w4 H gH 7 faa
ST 2 1 ga e, Sigett qen Sk i qiel s gew Shargst
S 3T9EeT (decomposition)%ﬁ?ﬂ 21
ff % &RUT (erosion) ¥ Fgd WM H HIEHRE AR, A |
BT g WK W T ST € Sl § SOl Tk AN GUR I
Teredl W SN B Sl § 9l F9 GICHRE H1 SuIR TSt
Sel g W J@el o Wemd 9 gl € | h® BIEhRE
ITA Sfq iR fgedl o o5 o T ® | 9Ys o qof § <
TIERRE -7 % (geological cycle) § =l Tl ? @R
U o AU Wipfash = W WEY @l S R
(B) wrerfuer wfaeen—wifies Wien UE Afed a1 |9 i

fordt S FRAO A1 el | 9= & fau few S

o U8 WR oh W& SUMEl i %ed © | 39 fefataa

IR B Fehd T

() Y G TS e

(i) 2TRTRTOT

(iii) & MR 3R wa@ w9

(v) W & T % o SrTEswar

(v) Tt =

(vi) G Tomees =g, o |

Excrela Guano
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23.

24.

TARGET QUESTION BANK

25. (A) DNA TgdIS FE8ESe o T S ugars 9 o4 gl

3 IUME HEE: 9 W S % T el gehd € 3R w9fs,
e S e w1 fRen ¥ %M W R

(A) HRa—2019 (A) & FI-16 T IW H |
(B) DNA @l TEMEfeh EIoFMT—DNA TH  arEcifsishel

HehMIcRIE & S el i THafTeh ST B G&F U

7 | THH! TEERTHR T 9R I 946 3R =R wdfafen

9 @ faore =t 2t @ 99 &1 ATGC & &9 # g

ExGIE

i a@—T=2fE (A) 3R TR1fE (G)

witfife sa—eefi (T) 3fR g (O) |
1@ PCR fafyr g1 <=
% HE UfapA o
TYeAOT (synthesis) T E
SR | 39 % ok fag
TF o SUERO @
Sy fomen S € NG
el Higeke (thermal cy-
cler) shgl SiIdl %I ;
PCR =% ¥ geaaan i+ B
W B ()
IRli=RETu (denatur- . : = s
ation) (&) TTITIRNH (annealing) () IR (extension) |
fafswashtor § DNA ®190°C R 1 foe o gsaer o 7 foan
W%WW%Q@(SHM@W@W%IW
o srfafwan fagor (reaction mixture)a? AISHA i AT STl
? | T8 WHGA 48°C Tl € | 36 qawH W oA | fe o
oI @ S ® | 3HeR W% foear fewem S € S 72°C W
1 foie & fou 211 @ | 39 <% 1 34-37 918 el ST €
9 YhH GRIDNA TE ! T 3T (one billion) AT T Jafera
(aplified) Tman ST @ehel % |
TR J@en ifafwar & DNA T o 31 Ui
(primers), TSEH 2% DNA Tifermist (Taq DNA polymerase),
AfAfoem FAREE (MgCl), TRHIEA  HeheEEe
AEvIRdl T € |

SUHHD] o < Tl (sets) Bl SAEATIHA TSl T Tk 5’ F
3% AN WM o faU @R Tk 35w A | CWEAE B
TEEfTF el serfaerdierse € S DNA &9 & I3 e
g

3% DNA uifermst TSEH oy W(Thermus aquaticus)
A SRIEH G Fhren ST € | 98 USTEH S=4 diaswH T
off Wi Tl € (AE=a TSEH $=9 ad W iR 8 S
%) 1 3% DNA oMiese 2idl ® 3R S=9 a9aH gr1 ik fgerdia
DNA o fodiehtor & w99 o gaen |ia o @l @ |
% USEH fSHIfe DNA &1 39e2 o &9 | %M § oo,
sifafsran o faerere JfeemierRel 1 ST #d gC ueHd
1 foggd X 2@ 2 | T8 YhH 6 hE IR el Sl § e
DNA &1 3Fehi Wiaeptadl s Sl € |

39 YHR U DNA & Yaffd ©e &l Haes o @Y el
amt FAf T o e W@ A e S e

(B)

2 IRNA ¥ eEgifea 998 Suftyd el 8 faus suo
7 DNA & qoil § aifersk eifeer 7, <t oo seeifafed
AR fommer o wia eifees HogAsial A 2 |
DNA § @TgaRme FaTiell F mRNA H T 6
331':1@'@7{ (Transcription) &4 g1 313@'@'"[ s DNA
e 9 ferd-S[erdt € | RNA 9icfiiis Ooe 5] %
foren @oa=1 el ® | DNA o 9t feed o 39 uemed
& de o 9% T fRA IR B ? | T i ge =i
o dfer S Wbl 8—(i) WHRU 9 S T RNA @
R (i) RNA difergfaemiere =7 § 95 (i) Tafmem
T FH |
(i) R ¥ ST Ud RNA el sl YRYF—DNA
oI W SRl W e ®ar © SH WiHet ®Ed § |
7 feed o gl a9 6 TSI (A) T i
(T) 3Afeeh (SIS 10) B9 & | TSEH RNA Uiferaist
TR ¥ S S € | THeR 3Tl DNA W He =
forel &1 e=M o fou o (o) et Sl g
21 7&l WRNA =7 o1 & 81 ¢ |
(ii) RNA Hiferafecraierzs = ¥ gfig—RNA tifamst
DNA & TE2ISH oHi 1 F&l Widieiueshior i € |
DNA &1 fath T e 36§ 9 ofdl 8 T8 mRNA
I war ¥ gig 5’9 3 w1 fgen § g6l © | T dehe
o T 30 FfFerdeEe ®1 ) ¥ I gfg w6 €
T8 Ueell fFrdREs JGwEd el § 98 Al
ATGE & | -4 RNA Wifermis Toed agd 9
¥, d9-99 fggefert DNA 319 facheford & < € |
(i) TEFRET T THAUT—E DNA R 3fafeed
fel W RNA ufferisl 9g=ar @ df mRNA &1
HYATU] ®eh A1 € | Tk ZEAYE %X U (rho) &1
Hedl ¥ HYId mRNA DNA ¥ 3ol 8 5[ ® |
WrehRated § @i faed TRt oF @i (G)
T GEATEA (C) 1 eAferehar orel e € |
%% H W mRNA S 01 81 9 & &% 3 DNA
¥ &9 T Wwd € TH T W ohgeh Ut o 9%
BRI AR Feherat FifvTehsed ® Teadd 9§ S
¥ SRl WM Gyelmo @t el fEar ¥ e 2
mRNA & 59 &@ @H & S 8 @ Teagfaeras
TSN 39 A T © |
Fohfiatied o i o fau fiF STenT-s1er JehR
% RNA Tifelitsl 9 Sd & S DNA § Hegem
FRIFTTE RNA 1 € | 39k S0 T T1: mRNA
1 FHfor B ©

26. (A) HFE g1 8= oF 9= SR G 1 Fmfor sar @

(B)

forga a1 sl #Ed € | HRHYS FHAI: AFR G
ST BNl Sl € SR o= o Tk gwie 9% 9N w6
$ar | fouehd ? | 39 fau uh @ (et eam)
I T TEHITR A TGHTeiere HIRTRT qon o WE
FHIREHE Ahlere § W a9 ¢ | famsime w1
TARE F SR H g FHw YO &l faued § were
B R | YUl ok 3@ YRR THivE 1 R @ faued
i il FHEardt € |
WA A1 WORU—Sd T 81 T % WU SH
I % afdeh™ W TS B A SE d o o= g o
afdeh™ W UEEd @, TE TNl HEenl ¢ |

(T 1]
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MATHEMATICS (31f01eT) — XII, 2024 (A)

wus ‘3’ (aﬁrﬁwm)

B yyT §& 1 ¥ 100 9 & 999 & 91 °r faeeq fou

T, foed @ e wE R Rl 50 uwl & s <
amﬁgm BT I+ U WEl fased sl OMR—3iie W
fafea =<
(50x1=50)
1 J‘ dx _
)
A ltan_1£+c B tan_1£+c
(A) —tan” = (B) tan™'>
ltan_1£+c D ltan_1x+c
(©) —tan”'> D) -
2. Isecxdxz
(A) loglsecx+tanx|+c (B) loglsecx—tanx|+c
(C) logsecx+c (D) tan’ x+c¢
3. J secd xtanx dx =
5 L
(A) Stan’x + ¢ (B) Zsectx+c

©

S5loglcosx|+c (D) tan’ x + ¢

4. I tan2 xdx =

(A) tanx + x + ¢

(B)

tanx—-x+c¢

(C) cotx+x+c¢ (D) cotx—x+c¢
cos2x
o[k
cos? x.sin® x
(A) cotx—tanx + ¢ (B) tanx —cotx + ¢
(C) —cotx—tan x + ¢ (D) —tan x + ¢
4
6 J’x2+1dx:
x“+1
X3 X3
(A) ?+c B) S x+2tan lxte
x3 -1
(C) 2tan' x + ¢ (D) = +x+2tan " xhe
J’ 1—cos2x
7. ——dx=
14+cos2x
(A) tan x + ¢ (B) tanx+ x + ¢
(C) tanx—x+c¢ (D) —tanx +x + ¢
8 I dx
: 2-3x
1
(A) =3logl2-3x+c (B) - 510g|2—3x|+c
(C) —log 12 =3xl+¢ (D) 2 tan'x* + ¢
Ix3dx
9. =
148
(A) tan'x* + ¢ (B) 4 tan”'x* + ¢
1 _
© Jtan e (D) 2 tan"x* + ¢

10.

11.

12.

13.

14.

15.

16.

17.

18.

I xe“dx =

(A) e“+c
©C) efx-D+c

B) x-1+c¢

D) fx+1)+c
2

ST THIHTT xy[dy]+ [dy] -

dx dx

ud R s
(A) Hife =2, 810 =1
(C) ®ife = 1,5md =2

(B) &ife =2, 91 =2
(D) &ife =1,5m@ =1

d .
TR GHIHTT d—z+2y=smx FT G U T

(B) &* (C) & (D) ¥

d
TRl GHIHTOT d—y=e

(A) €

x+y

EF[%FI% :

(A) " +e =¢ B) ¥ +e¥=c¢

©) e +e¥=c D) eV =¢
d

A qHIHTOT d—y=% HEA R :

(A) y=loglxl+c B) y=cx

(C) y=xloglxl+cx (D) y=loglxl+cx

d
SAahel THEIO d—y+2y=e3" F1 R TUF T
X

19. j.j

20.

21.

22,

23.

24.

(A) o3 (B) ¢ ©) ¢* (D)
(41 +3]+3k). (6] —4] +k) =

(A) 22 (B) 15 (©) 21 (D) 18
G +3]=2k)x (=i +3k) =

(A) 9i —j+3k (B) 9i+j-3k

(C) T—-j+3k D) 7+j-3k
li-j—kl=

(A) 3 (B) 3 © 2 D) 2
JJ=

(A) 0 B) 1 © -1 D)
kxj=

A) —j B) j © o D)

Tk oy =27 +3sinx F x =0 R WY @ H FEUE 2:

1
A3 ®B) -3 © 3 D) -3

VY0 51 i sk

TH Jd &I 55901 r = 6 cm W& T &% | qfieds &1

W (cm¥cm o) 2

(A) 10m (B) 12n (C) 8n
afg wed A 3R B w@dd @ i :

(A) P(AnB)=P(A)P(B)

(B) P(AUB)=P(A)+P(B)—P(ANB)
(C©) P(AUB)=0

(D) P(AN B)=P(A)+ P(B)

D) 11n

52Tl <Rl 1Y 1 Ueh TSE! W Teh SISYME hTer shi Wik 2:

1 4 1 1
w5 B ©35 Oy
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25.

26.

27.

28.

29.

30.

31.

32.

33.

34.

35.

MATHEMATICS - XII, 2024 (A)

1 1 1
P(A)—E,P(B)—Z,P(AF\B) —g: P(B/A) =

2 3 1 4
) 3 ®) 3 © 3 D) 3
@ﬁa&%aﬁloaﬂmw%laﬁm@:ﬁamaﬁ
HIferehd ©:

1Y 1Y

(A) ”Ck[gj (B) ”C%[EJ

©) 10 18 D) 10 110
6l 2 6l 2

6 5 7
P(A)=—, P(B)=—, P(AUB) = — -
(A) 1 (B) T ( ) T P(ANB)

4 5 7 9
(A) 1 (B) 1 © 1 (D) 1
xy-qel T HHE B:

(A) x=0 (B) y=0

©) z=0 (D) 39 | ®g 7@l
-3 W fRw-weand €

(A) (1,0, 1) (B) (0,0, 1)

(©) (0, 1, 0) (D) (0, 0, 0)

fage (4,3,7) 3R (1, -1, -5) & <= & g0 B
(A) 13 (B) 15 ©) 12 D) 5

I (x+cos2x) dx =

(A) %xsin2x+icos2x+c (B) éxsian—icos2x+c
x> sin2x
(C) 2xsin2x+4cos2x+c (D) 7+T+C
J.ex{sin_lx+ ! }dxz
1— &2
X
e" ! +c
(A) - 2 (B) e*sin"'x+c
&2
© 7+C D) ¢ .cos'x+c
J' dx
x(x+2)

(A) logILHc (B) llogILHc
x+2 2 x+2

(C) loglxl+c (D) loglx+21+c¢
J. Va? —x*dx=
2
(A) Va® —x%dx B) Lsin'E4c
2 2 a
2
©) Zla? - +Lsin 'S4
2 2 a
2
D) E\/)cz—az—a—sin_1£+c
2 2 a
/2
I sin” x dx=
-n/2
@A -1 (B) 0 G 1 D) 2

36.

37.

38.

39.

40.

41.

42,

43.

44.

45.

46.

47.

48.

49.

j“LdF
0 Jx+Ja—x
(A) a ® 3 ©) 2a
/2
I cos2x dx =
0
(A) 0 B) 1 (C) -1
Inlécosx.cos 2xdx =
0
(A) 5/6 (B) 1/6 (C) 5/12
In tan x dx =
(A) ~1 (B) 0 <€ 2
j LI
4 ~x
(A) 2 (B) m/6 (©) n/4
cos”! [_l):
2
27 T T
@3 ® 3 ©
xe[-1,1], cos tx=
A) Zocot'x B) Z-sin”'x
2 2
(© E—tan_lx (D) E—sec_lx
2 2
xe[-1,1],sin"'(=x) =
(A) —sin'x  (B) sin'x  (C) —coslx
cosec lx=....... ; x>1 0r <]
(A) sin”'x (B) sin™'—
©) cos lx (D) cos™I—
o3
tan|tan” —+tan  —|=
3 2
(A) 1 (B) 0 <€ 2
sin(cot_1 x)=
(A) J1+x2 B) x
1
©) a+xH72 ® ;2
_1[ 71'5)
cos | cos— |=
6
n 5n b
W B  ©3
E_Sin—l[_l]:
3 2
27 T
(A) 0 ® 3 © 3
tan~' /3 — sec_l(—2) =
o F g T 2n
@ -3 B 3 © 3

D)

D)

D)

D)

D)

D)

D)

D)

D)

D)

D)

3a

2

=5/12

/2

ol a

CcCos x

ala



50.

51.

52.

53.

54.

55.

56.

57.

58.

59.

60.

61.

62.

63.

64.

65.

TARGET QUESTION BANK
66. f:A— B 3T=8RE ®aH 8N AR :

g efifee f NY R={(a b):a=b-2,b>6)}

N e[ Gy R 7 Frefafed § @ sW g

(A) (6,8)eR (B) (2,4)eR

(C) (3,8)€R (D) 8,7)eR

Gx(b+3)+bx(C+a)+cx(@+b)=

(A) 1 B) 0 ©) -1 D) 3

i.(jxk)=

(A) 1 (B) 0 <€) -1 D) 7

R G=i+j+2k q a F fem A W@ R wew a 2
i+j+k i+j+2k

@A) =% B 5

© i+j6+2k O i+16'+k

AR 3742k I F4aj-3k TER @ F A ) =

(A) -3 (B) -6 ©) -9 (D) -1

Icotzxdxz

(A) cotx+x+k
(©) —cotx—x+k

(B) —cotx+x+k
(D) cotx—x+k

|feRl 27 —3j+2k W 74+4j+5k F AA B HOE:

(A) f(A)cB (B) f(A)=B
(©) f(A>B (D) 39 | w1 7@l
67. A=[ay] —ww o smepE ¥ AR
(A) m=n B) m<n
(C) m>n (D) 399 | Hg 7@l
{_3}
68. | ° =
. [1 6 -4]=
2
-3 —18 12 ] -3 -18 12
NE 30 -20 ®) 2 12 -8
2 12 -8 | |5 30 -20
(5 30 -20] (3 18 12
©) -3 -18 12 o |° 30 20
12 12 -8 2 12 8
01
69. A:|:1 0:| :>A5:
01 01
A 1o B o1
0 5 10
© 15 0 D 1o 1
3 -5
70. =g A=[_1 2}?1% adjoint A =

(A) 30° (B) 90° (C) 45° (D) 60°
la+bl=la-bl=
(A) lal=1bl (B) allb © G1b (D) ldl=0
A 47 —4j+7k R WREA [_2j+k B TET R :
(A) 9 (B) 19/9 (C) 9/19 (D) 19
Z = 3x + 5y ® a9 HA W@l & =y
x+y<2,x20,y>0 g
(A) 16 (B) 15
© o (D) 39 ¥ HE T
Z = 3x + 2y H ofushad AA W&l R Ry
3x+y£15,x20,y20%:
(A) 30 (B) 15
(©) 10 (D) T8 4 & T
X x+1_
x—=1 x|
A1 (B) 0 © 2 D) -1
A+ TR a * b=2a + bW TRAMTG & @ (2% 3) % 42
(A) 30 (B) 20 (©) 18 (D) 15
11 =2
2 1 3=
5 4 -9
A) 2 B) 1 © o (D) -1
3 -4 5
11 2=
2 3 1
(A) 0 (B) 46 (C) —46 D) 1

e

25 30
(A) [35 8} (B)

25 30 5 6 25 30
{35 40} © {35 40} (D) {25 40}

2 5 2 3 13 2 1
@ 1] 3 ® |5 © |55 ©

d
71. —log(secx +tanx) =
dx

1

(A) sec
X+ tanx
(C) tan x

72. di(sec_1 x+cosec”! x)=

x
A1 (B) 0

1—cosx
73. af€ y = tan™! [ ] GEl

sin x

A1 B) -1

(B) secx

(D) secx + tan x

< 2 (D) -1
dy
=
1 1
© 2 (D) - 2
dy

74. A x=asec 9, y=htan g T ——=

dx

ésece B écosece C écote D 2
; (B) - © - (D)

(A)
75. 4fg
sin x CoS X
(A) 2y-1 (B) y—1
20 d*y
76. A y=x" @ —5=
dx
(A) ' (B) 20x"°

. : : dy _
y=\/s1nx+\/s1nx+,/s1nx+....oo q& e

COoSx
© 31

(C) 380x!8

1
® 3,7

(D) o

19

|
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77

78.

79.

80.

81.

82.

83.

84.

85.

86.

MATHEMATICS - XII, 2024 (A)

. I V14 cos2xdx =

(A) \/Ecosx+c (B) \/Esinx+c

© %” (D) V2sinZ+c
X 2
J logx /=
X
1 2 1 2
(A) E(IOgX) +c B) - E(Ing) +c
2 2
cos\/;dx_
T =
(A) 2siny/x+c (B) sinvx+c
(©) cosv/x+e (D) 2cosv/x +c
Cos x.8inx dx =
J+
2 3/2 2 3/2
(A) E(COSX) +c (B) —E(cosx) +c
© (COSX)3/2+C (D) —(cosx)3/2+c

W st & KR S £, m,
TH-TR W & M AR

n 3R L, my, ny 21 Yrd

A T

®) 7

© Pam?+n® =1 +m}+n}

D) I +mmy +nn =0
?ﬁwi@ﬁﬁm\wm,s%aﬁ@ﬁﬁ{—w
111 13 3

A 933 ®) 5 s s

5 3 1 . .

© 35 735 T35 (D) & | & T

T 3x — Sy + 4z =11 % THIR qc H1 GHH B:

(A) 3x -5y +4z=21 (B) 3x+5y+4z=25

(C) 3x+5y+4z=35 (D) =19 9§ ®rE &l

Al 2x+y—2z=53W 3x—6y— 2z =77 ol B HF :

T T
@*) 5 ®)

©) cos7(ar21) D) cos~'16/61)

fag 2, 1,-DF T x -2y +4z=9F 0 T :
13 1321
A 5 ®) =
21 . .
(©) (D) T ¥ HE T

13
e & qel 2x— 4y +3z=53R x+ 2y + Az = 12 TR o
g oAl A=
(A) -2
©) 3

(B) 2
(D) ¥ ¥ = &

87.

88.

89.

90.

91.

92.

93.

94.

x-3 y-4 z-5

Xx_Y_Z% :
RI&EC]] - ) - L@ 573 zéwﬁ?ﬁ
b

(A) 5a+3b+2c=0 (B) §=§=§
(©) 5a=3b=2c (D) TH 9 HLE &l
RICECC) x;IX1:y;1y1:Z;Z1 , T apx+byy+cz+d =0
% GHIR Bl

a b ¢
(A) é—g—é (B) ax+bhy+cz=0
(©) aay +bb, +c1c, =0 (D) 399 | ®g 7@l

x 2| |6 2
afg 3 x_‘IS . B A xR R
(A) 6 (B) =6 ©) -6 D) 0
I V1 —=sin2xdx =
(A) sinx+cosx+c (B) sinx—cosx+c

(C) cosx—sinx+c (D) tanx—cotx+c
afg A:[2 _3} @Al =
4 6
1! !
4 8 4 3
@ |11 ® | 11
6 12 6 12
(4 8 (4 8
© 16 12 D)6 12
3 6 78
RIE A=[_5 4} R B=[5 6} al 6A - 5B =
17 4 17 4
(A) |5 54 B) 15 s4
17 4 17 -4
© =5 -6 D) |55 —s4
2 V2 0
A= -
RIE 3 o 2 A
5
2 3 o3
*) V22 B V2o o2
0 215 025
B ]
b 3 2 2/5}
© -2/5 0 ®) 3 V2 0
af T e I el
2A+ B+ X =0, 3@l 3 4 Bz[l 5}
X=
12 12
A7 o3 B 17 13
12 12
© g -3 D7 13



9s.

96.

97.

TARGET QUESTION BANK

[xyl=2x-1 9]=

(A) x=3,y=9 B) x=1,y=9
©) x=0,y=9 (D) x=3,y=4
i(sinzx)z

(A) 2 sinx (B) sin 2x

(©) cos 2x (D) 2 cos x
%(x5 +cos2x) =

(A) 5x* + sin 2x (B) 5x* + cos 2x

(C) 5x* - 2 sin 2x (D) x + 2 sin 2x

98. %(sec‘1 x)=
1 1
® Tor ® 7
1
© 1+ x? (D) wx-1
d .
99. E(a )=
(A) a*loga (B) a*logx
©) & (D) loga
100. ilOg(COS)C) =
dx
(A) tan x (B) —tan x
(©) cotx (D) — cot x

@Wog ‘G’ (IW- TS g2 )

e W& 1 ¥ 30 ek oY ST & | 3 A TRt 15 vt
% ST < | Udeh @ forw 2 3t i@ 2 15x2=30

. ?IFfﬁx—2y+21=63ﬁ'{ 3x—6y+6z=27% &< & O @

el

. 9 T 1 TR0 6 R e x, y 3Rz el W sfq s

HHA: 2, 3 3R 4 T

. . . X—1 _y-=2 z+17
Lp AR WA R faed el =TS , #R
x+4 +9 z-1 .
T:yT:T WER o= B
. = wifoerar deq & fow @ s W
v]ol1]21]3
p [1/8]3/8(3/8]1/8
AR G=7—j+k M p=2i+j+3k T la+b| H "4 @
ey

GR35 4412k T RR-wRE e
. AR xcosy=sin (x+y)d % fpTet|

tan”!

X .1 2x .
7 T sin 7 % WU 3fashed Hi
1-x 1+x

dy .
LA p=1462, y =12 -, e
10.

11.
12.

fog3ﬁ'{ gof ¥ ®IY AR flx) = 8x> qer g(x):xmﬁl
TR 57437 +4k R 67 87—k T o= N HOT A F
AfFHANHRT F Z = 20x + 3y Sdfh 3x + 2y < 210, x >
0,y > 0.

13.

14.

15.

16.

17.

18.

19.

20.

21. B«
22,

23.

24.

25.

26.

27.

28

29.

30.

31.

32.

33.

34.

35.

36.

21

B W Xzﬂ:ZXy
dx

wﬁwib Zsmnmamﬁl

-1 3 4

Iz A= 3,?ﬁﬁ|?§ﬁﬁﬁA2=A.

A2
I xcosxdx 1AM AT
0

I sin’ x dx 3T THRTT F

J Lm e )
x+1++x+2

J cos> x.sin x dx =y gurehed Fil

2

-1 .

I x2 dx T HHERAT B
x"+4

ot D

Codx
fag & % 4 (cot!3 +cot'2) = n

xX+y

fag #X & tan'x + tan™! y = tan™ T—xy
dy _ .

af y = \/sinxz?ﬁ dx T
d

g y = sin (xy) @ d_z frahTet|

THIREE Y I (x+2)%dx

2P =PBY = o

P(AUB) ¥a @i AR

P(A/B):?

. d .
g y=x""" q@ d—i Frered|

.[Mz dx )
0 1+\/tanxam A l

T2 2 -
a”—x"dx =1 AR e |
0

79T | 31 9 38 3w Uy § | Rl 4 U & 3w
| vk & forw 5 3t fraifia @ 4x5=20

. .4 .45 . 116w
\g;ﬂ + SIn  —+Ssm  —+SsSin  —=—
= 5 13 65 2

/2
I R I log cos xdx
0

A H: (1+x2)ﬂ+y=tan_1x
dx
dy .
It frebred, ST (sin y)* = (cos x)”
1+a 1 1
TRfos @1 AE wa e | L Y]
1 1 1+c¢

A WA B (3] +4K). [ - Hx(+h)]



22 MATHEMATICS - XII, 2024 (A)

37. AR ® Z=2x+y @R 5x+10y <50, = /970116
x+y2l,y<4, x=0,y=>0. =\/E = 5; Ans.
38. T UEl HI WX IR Hhd H HH W FHH Y 9K TH B HF | 6. wha: 2020 (A) H T3 F IW H|
1SSl A B P R B2 7. e & fF, xcosy =sin (x+y)
(o ! x(—sin ),d—y+cos X1 =cos (x+y). 1+d_y
Tqus - ot U
1.(C) 2.(A) 3. B 4. B) 5 (C) 6. (B) _dy ~ dy
7.(C) 8. (B) 9. (C) 10. (C) 11. (A) 12. (C) = TXSIny— - +C0sy =cos(x+y)+cos(x+y)— -
13. (A) 14. (B) 15. (B) 16. (B) 17. (A) 18. (A) dy oy
19. (B) 20. (*) 21. (A) 22. (B) 23. (A) 24. (A) = Ccos(x+y) - +xsiny—=cosy—cos(x+y)
25. (B) 26. (D) 27. (A) 28. (C) 29. (B) 30. (A) 4
31. (D) 32. (B) 33. (B) 34. (C) 35. (B) 36. (B) = —y[cos (x+y)+xsiny]=cosy—cos (x+y)
37. (A) 38. (C) 39. (B) 40. (A) 41. (A) 42. (B) dx
43. (A) 44. (B) 45. (A) 46. (D) 47. (B) 48. (C) . dy_cosyzeostuty)
49. (A) 50. (A) 51. (B) 52. (A) 53. (B) 54. (C) "t dx cos(x+y)+asiny T
55. (C) 56. (B) 57. (C) 58. (B) 59. (C) 60. (A) o 2x o 2« dy
61. (A) 62. (C) 63. (C) 64. (B) 65. (B) 66. (B) 8. M fH y=tan |5 | qen 2=sim s &
67. (A) 68. (A) 69. (A) 70. (A) 71. (B) 72. (B) e 2
73. (C) 74. (B) 75. (C) 76. (C) 771. (B) 78. (A) X =tan O TR W,
79. (A) 80. (B) 81. (D) 82. (B) 83. (A) 84. (C) > tan
85. B) 86. (B) 87. (B) 88. (C) 89. (B) 90. (A) y=tan_1 [—2 ]ztan_l(tan29)=29 (D)
91. (B) 92. (C) 93. (B) 94. (C) 95. (B) 96. (B) 1-tan”9
97. (C) 98. (B) 99. (A)100. (B) — Sin—l[ 2tan(2a ] o
—‘a_, 1+tan“ 0
s = & = sin"!(sin20)=20 . y=2
1. Pp=x-2y+22-6=0 dy
= 3x-6y+6z-18=0 = d—=1;Ans.
Py=3x-6y+6z-2=0 N
a=3,b=-6,c=6; d =-18,dy=-2 9. 1442
| | d-a | | 2418 I_‘i‘ 11, [.. d o n-l}
Eﬁ (distance) = |\/a2+b2+6’2| = |\/9+36+36| \/ﬁ dt 2 1+t2 : E(x ) =n.x
16| 16 dx _ t
= ‘3 Y 3HTE; Ans. E‘W . (@)
2. Hq:@UE ® & H HHASA H HHH 3
£+£+£:1 ¥ _ b= _ v -
PR [T a=2,b=3,c=-4] ﬂ: 1 «(-21)
Xy Z dt 2 1—t2
= —+=-+—=1
2 3 -4 dy
6x+4y+(-32) dr 1-2 ... (1)
- — t
12 T (i) ® Tl (1) ¥ 9T R,
= O6x+4y-3z=1x12 —t
s 6x+4y—3z=12; Ans. dy =
3. "Heana: 2020 (A) & W¥H-22 H S| <G| %:L
4. WifFRal qe7 1 WA = Spx; -t
l+1><§+2><§+3><l “ ber
O A A e dy N1+
0. 246,3 S g oA
- 8 8 8 10. Fehd: 2020 (A) & TIT—25 F SW IH|
_ 3+8ﬂ 1. WA a=s5i+3j+4k SR poei-si-k
b3 el e R N o B e L B B
=§=E=1-5;Ans. ~ b _
o S Cose—m .. (1)
5. fa®, G =7—j+k TN b=27+j+3k a
a+b=3+0] +4k A, ab igox_62-£i:(—8)+4x(—l)
|Zi+l;|= 32+02+42 :30—28:2




TARGET QUESTION BANK 23

& ladl = 52132447 =25+9+16
= J50
b1 = 6% +(=8)% +(-1)>

= J36+64+1=4101
. (i) 9,
2

cos 0 = 155 101

2
_ Sl S,
0 = cos @X\/W,Ans.
12. SATHRAHHI 7 = 20x + 3y S@feh 3x + 2y < 210 S@fhk x =0,
y20.

at (0, 10, 5), z=20.0 + 3.105 = 315
y

=1 .. (1)
70 105
at (70, 0), z = 20.70 + 3.0 = 1400

at (0, 0), z=0
s sIfgeRadeRter z = 1400, at (70, 0).; Ans.

d
13. xzj—y=2xy - DY

x d X
dy
- j_:z.j
y

X
dx
X
= logy=2logx= y=cx’ Ans.

14. fe=n g
1 1 1
_|a b ¢
a vl
0 0 1
_|a-c b-c ¢
-3 -3 S8
[applying C; —=(C=G3) and G, = (G -G)]
0 0 1
=(a—c)(b-c). 1 1 c
a*+ac+c? b +be+ct

[taking out (a — ¢) and (b — ¢) common from C| and C,]
1

— (a=c)(b-c).1.
a*+ac+c* b*+be+c?

[expanded by R, ]
= (a—c)(b—c).[(b* +bc+c?)—(a* +ac +c2)]
= (a—c)(b-0)[(b* —a®) + (bc —ac)]
= (a=0) (b-0)[(b* —a®) +(b—a)c]
= (a-c)y(b—c)(b—a)(b+a+c)
= (a-b)y(b—c)(c—a)(a+b+c); Ans.
15. LHS.=A2=AA

2 2 412 2 -4

-1 3 41|-1 3 4

1 -2 3|1 =2 -3

[4+2-4 —4-6+8
-2-3+4 2+9-8
| 2+42-3 -2-6+6
(2 2 -4
-1 3 4

= = A; Proved
1 -2 -3

~8-8+12
4+12-12
~4-8+9

/2
16. -[0 X cos x dx
z-jﬂmﬁmw

=fKMI,ﬁUOMFI Al fedddere

/2
— [xj cosdx—j I{I cosxdx}dx} +c
0

. . /2
= [xsmx —Jsin xdx]o

= [xsinx+cosx]g/2
T

=|=+0|-(0+1

_ [2 ] (0+1)

/2 T
J. xCOSdeC:——l;Ans.
0 2

17. Tt I = J sin’ xdx

3sinx —sin3x
4

l[—3cosx - _0083)1 +C
4 3

dx

3 1
——cosx+-—cos3x+C -
1 2 ; Ans.

1
— 4
18. J.\/x+1+ x+2 *
I Vx+1—-+/x+2 dr
T W1+ +2) (xrl=x+2)

(IFRTOT W)
I \/x+1—\/x+2dx
=) a+D)-(x+2)

= j —m_mdx

x+1-x-2

—IJ. Nx+1—+x+2dx

4 @+D"? x+2)? e
3/2 3/2

-2
7;Kx+h”2—<x+29”]+c;An&

19. cos x =t W@H W, sin dx = — dt

J cos® xsinxdx = —j £dt

t
-—+C
4

1
_ZCOS4 x+C | Ans.
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X
20. Let,/ =I

21.

22,

23.

24.

2
-1
dx

P +4
I P +4-4-1
- X’ +4

2
=I x2+4_% e
x“+4 x"+4
5
— 1- dx
_-[[ x2+4]
=Idx—j 25 dx
x“+4

5 —1( X
= x——tan |— |+C
> [2) ; Ans.

dx

d ,
a4y _ xty

= ﬂ=ex.ey = Iidyzj edx
dx ey

= I e_ydyzj e*dx

= e V=e"+C

eV =="+C
= =] o
i 1
S R I l P O
4 (cot '3 +cot™2)= 1

70 S ¥ cot” x+cot™!y=cot™! [xy_—l]
y+x

4 cor[3X21

2+3

5
_ -1 |2
= 4 cot 5

= 4cott (1)

U

L.H.S.

T
= 4x 1
= R.H.S. proved.
A tan'x = o 3N tan"ly = B
x=tan o 3N y=tan 8

tanot+tanf  x+y

(a+P)=

& tan P I-tanotanfB  1—xy
1x+

I 0c+[3=tan lu
1=y

tan ' x+tan 'y =tan"' Xy
y= —xy° proved.

1
Y= Jsinx? = y=(sinx*)2
X o U 3Ehed S W,
1
%z%(sinxz) 2 cosx?.2x
X

dy _ x.cos(x%)

Ans.
dx sinx?
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25. y =sin xy
X o WU TEedhed i W,

d d .
E(y) = E(sm (xy))

= x cos (xy) y1 + y cos (xy)
= y1 = x cos (xy) y1 + y cos (xy)

| yeos(xy)

= ¥y = 1—x cos (xy)

dy _ycos (xy)

dx 1—xcos(xy) ; Ans.

26. j(x+2)2dx = [ +4x+4) dx

x2+1 x1+1 0+1

- +4.2 44X ¢
241 141 0+1

x3 2 2

- ZTiai a4t gc
302

1
= §X3+2X2+4X+C;Ans.

27. ®aa: 2020 (A) & TA-27 H IW @
28. T fob y = i
AN WF A0 (logarithm) TH T,
log y = log (x™)
= logy=sinx.logx

A WE x H GUeT TR B W,

1 dy .1
—.—=cosx.logx +sinx.—
dx X

y

dy [ sinx:|
— —=y|cosx.logx+——

dx X

i sinx
sin x
=X .[cosx.logx+7} , Ans.

/2 1
0 1++/tanx

/2 1
[ R—,
- Jo 1+ tan(n/2—x)
J-n/Z 1
- ——dx
0 I++/cotx
/2
- j ! &
0 qy !
v tan x
/2
J‘ tan x d
0 l++/tanx

/2

= I+I=.[ 1.dx
0

= =21

T
2] =—
= 2

T
1=Z;Ans.
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30. j \/az—xzdxz[ng—xz+%sin—1fl
0

31.
32.
33.

34.

TARGET QUESTION BANK

a

2
= [%\/az —a? +a?sin_1 [2)]—0
a

[ +— sin”~ (1)]
o
2

ale:

b
.—=——; Ans.
2 4

Hend: 2020 (A) & UIT-28 1 I W
Heha: 2014 (A) & TT-46 F SW G|
fo T STEed GHIE 7

(1+x ) +y—tan 1y

Dy L ()
’ 2 e

d
a‘a’d—z+Py=Q¢wm%F@$WW%|

1

o tan” x
S|l, P= 5 & 0= 2
1+x I+x
dx
A9 LF = J.de J.ler tan~! x

=e

feu U 3TaRd GHIHIOT 1 BA B,

-1 -1 tan” x
tan tan
ye 't t = J. e f——dx+c

= I te'di+c [ t=tan 'x TEH W

=e@t-D+c
[by parts integrate T ]

- _
= ™" X(tan 1x—l)+c

-1
= y=-1+ tan‘lx + e X

Tef U T srhe GHIR w1 SR T R

(sin y)* = (cos x)” [+ logm™ = nlogm]

= xlogsin y = ylogcosx

T TWEH x H GUe] ke FH T,
2 oe si los sin vy -
x ologsiny+logsiny -~ -x

4, 1 L)
=y dx 0g cos x + log cos x dxy

* cosyﬂ+10gsiny——ySiﬂ+logcosx@
= sin y dx cos X dx

dy dy
— logsin y + ytanx =logcos x— — xcot y—
dx dx

dy _logsiny+ ytanx

= ax logcosx —xcoty
dy _ ytanx+logsiny

dx logcosx—xcoty’ Ans.

35. Hend: 2019 (A) & W 32 1 S W

36. (7—37+41€).[(2?-7)><(7+12)]

1 -3 4
_2 10
0 1 1

1-ED+3@2)+402)

=—1+6+38
=13; Ans.
37. 5x+10y=50, x+1=1 y=4
(10,0), (0,5 (1,0),(0, 1)
(0,5)
0.4)E| \D(2,4)
A
(0,1)
C C
(1,0) (10, 4)
Z=2x+1

Zy=1, Zyg=2, Z=20,Z,=4+4=8,Z;=4
Z in = 1 at (0, 1); Ans.
38. ®A ®HA B GEA
n (S) =36

n(E)={(1,1),(2,2), ... (6,6))=6
1.1
P=3%"%
a = %,XZZ

P(x=2)+P(x=3)+P(x=4)
2 2
s (1Y (5 125150
= = C — X| — :6
P&=2 2[6) [6) 3636 1296
3
s (1Y (5 15 _ 20
G|~ —4x——x =
6) \6) 216" 36 " 129

P(x=3)= 2
1y
P(x=4)=* C“[@J =

1296

150 20 1
+ +
1296 1296 1296

150+ 20+1
1296

171 19

= 1206 1447 AT

Fla=a43+4) =

aaa

25
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TARGET QUESTION BANK

ENGLISH ( 3Usit ) — XII (100 Marks ) — 2024 (A)

Time : 3 Hours 15 Minutes

Full Marks : 100

Instructions to candidate : See previous Question

10.

11.

12.

13.

14.

15.

16.

SECTION-A (OBJECTIVE TYPE)

Question No. 1 to 100 have four options, out of which
only one is correct. You have to mark, your selected
option, on the OMR-Sheet. You have to attempt only 50

Questions. 50x1=50
Choose the correctly spelt word :

(A) Concent (B) Cunsent

(C) Consent (D) Counsent

They should not ...... upon the poor. (Choose the correct
phrase)

(A) look up (B) look down

(C) look after (D) look on

There is ....... university here.

(Choose the correct option)

(A) a (B) an

(C) the (D) no article

Rajesh is still shouting, ...... ?

(Choose the correct option)

(A) not he is (B) not is he

(C) wasn’t he (D) isn’t he

Choose the correct antonym of ‘Trivial’ :

(A) Rural (B) Important

(C) Loss (D) Artificial

This child is very ...... to me.

(Choose the correct option)

(A) deer (B) dear (C) dare (D) dearer
Ramesh is ..... and hearty.

(Choose the correct option)

(A) hale (B) hail (C) heal (D) head

Choose the correct sentence :

(A) Women were very seldom convict.

(B) His eyes had hardly close.

(C) Hardly had he settled into his seat when Radha
charged in.

(D) Hardly nobody came.

He said that he ....... be there.

(Choose the correct option)

(A) would (B) need (C) can

I have not heard of you ...... last week.

(Choose the correct option)

(A) since (B) in

There are seven days in a :

(Choose the correct option)

(A) weak (B) weaker (C) week

The police ....... the thief.

(Choose the correct option)

(A) arrest (B) arrested (C) arresting (D) has arrest

His progress satisfied me.

(Choose the correct passive voice)

(A) I was satisfying with his progress.

(B) I am satisty with his progress.

(C) I was satisfied with his progress.

(D) I have to be satisfy with his progress.

The engagement party was cancelled as ...... people were

against the marriage.

(Choose the correct option)

(D) want
(C) by (D) for

(D) seek

(A) some (B) the some
(C) little (D) the few
Ramesh has been absent ...... Friday.
(Choose the correct option)

(A) since (B) from

(C) for (D) by

Chicken and rice ...... my favourite dish.

(Choose the correct option)

17.

18.

19.

20.
21.
22,

23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

33.

(A) are (B) had

(©) is (D) have

Nadal won all the matches played in Paris.

(Choose the correct negative sentence)

(A) Nadal does not win all the matches played in Paris.
(B) Nadal did not lose a single match played in Paris.
(C) Nadal was not able to lose any match played in Paris.
(D) Nadal had lost any match not played in Paris.

He says to me, “You are my friend.”

(Choose the correct indirect narration)

(A) He tells me that I am his friend.

(B) He telling me that I will be his friend.

(C) He told me I am friend of his.

(D) He will tell me that I will be his friend.

Give me something to eat ...... I shall die of hunger.
(Choose the correct option)

(A) else (B) can (C) for (D) but

All his ...... is stolen. (Choose the correct option)

(A) luggages (B) beds (C) luggage (D) furnitures
I bought ...... a shirt. (Choose the correct option)

(A) itself (B) himself (C) herself (D) myself
She is very dull. She cannot pass.
(Choose the best combination)

(A) she is too dull to pass

(B) To pass is she too dull

(C) Dull is she too to pass

(D) Too dull is to pass she

Praveen does not ..... with Mohan.
(Choose the correct option)

(A) agreed (B) agree
(C) to agree (D) agreeing
We met a lot of people ...... our holidays.
(Choose the correct option)

(A) on (B) at (C) by

He cannot put ...... with such insult.
(Choose the correct option)

(A) of (B) up (C) down
Neither of the two men ..... done this.
(Choose the correct option)

(A) have (B) has (C) may
Choose the correct spelling :

(A) Risemblence (B) Resiemblience

(C) Resemblance (D) Risimblence

He said to Rita, “Am I ill ?”

(Choose the correct indirect speech)

(A) He says that he is ill to Rita.

(B) He will say to Rita that he is ill.

(C) He asked Rita if he was ill.

(D) He said to Rita if he is ill.

Find out the ....... things. (Choose the correct option)

(D) during

(D) from

(D) should

(A) discard (B) discarding

(C) will discard (D) discarded

Sri Lanka is ...... island. (Choose the correct option)
(A) a (B) an

(C) the (D) no article

We should think ...... this matter deeply.

(Choose the correct option)

(A) by (B) in (C) over (D) off

Choose the correct meaning of :
“To read between the lines”

(A) to understand the hidden meaning
(B) to learn quickly

(C) to laugh at

(D) to have good night
Choose the odd one out :
(A) School

(C) Office

(B) University
(D) College



34.

35.

36.

37.

38.

39.

40.

41.

42,

43.

44.

45.

46.

47.

48.

49.

50.

51.

52.

53.
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....... shall I fear but the ones who hurt me?
(Choose the correct option)

(A) Whose (B) Whom (C) Who (D) Which
Choose the correct synonym of ‘Forbid’ :
(A) Allow (B) Prohibit

(C) Accomplish (D) Hold
The antonym of ‘Duplicate’ is :

(A) Copy (B) Original
(C) Clone (D) Photo
Choose the correct sentence :

(A) I did my work quick.

(B) I did my work every quick.

(C) I did my work quickly.

(D) I do my working quick.

I didn’t ...... where he was going.

(Choose the correct option)

(A) know (B) knew

(C) knowing (D) will know
If you invite me, I ....... certainly come.
(Choose the correct answer)

(A) could (B) would

(C) might (D) would have
Choose the mis-spelt word :

(A) Campaign

(C) Secretry

Choose the mis-spelt word :
(A) Harmaeni (B) Harmony

(C) Harmany (D) Harmeny

Choose the correct one word substitution of “Ceremony
of crowning a king”.
(A) Coquette

(B) Controversy
(D) Decision

(B) Demagogue

(C) Coronation (D) Deprecate

Do what you want to do, ........ don’t disturb me.
(Choose the correct option)

(A) though (B) that (C) but (D) so
It was not a ........ act at all.

(Choose the correct option)

(A) pardon (B) pardoning

(C) pardoned

Choose the odd one out :
(A) Pen (B) Marker (C) Paper (D) Pencil
You never have bread and butter for breakfast, ..... ?
(Choose the correct option)

(A) have you (B) do you

(C) don’t they (D) do they

Choose the correct meaning of : “Out of question”.
(A) Undesirable (B) Impossible

(C) Unpleasant (D) Irresistible

Their idea of a holiday ........ at a resort.

(Choose the correct option)

(A) is relaxed (B) is to relaxing

(C) is to relax (D) is relaxing

They decided ....... the white car.
(Choose the correct option)

(A) about (B) on (C) in
My cycle did not ....... brakes.
(Choose the correct option)

(A) has (B) have (C) had
It is time for the bell to be rung.
(Choose the correct active voice)

(A) It will be time to ring the bell.

(B) Time will be when she bell rings.
(C) It is time to ring the bell.

(D) Rings the bell in time.

He blamed ...... for the ugly situation.
(Choose the correct option)

(A) himself (B) yourself
(C) themselves (D) itself

We ...... be quiet in the library.
(Choose the correct option)

(D) pardonable

(D) of

(D) did has

54.

5S.

56.

57.

58.
59.

60.

a

(A) mustn’t (B) doesn’t have to
(C) doesn’t (D) must

I would have done a better job ...... he did.
(Choose the correct option)

(A) than (B) then (C) that (D) there
Akbar was ....... noblest king.

(Choose the correct option)

(A) a (B) an

(C) the (D) no article

Moti always ........ chappatis in his dinner.
(Choose the correct answer)

(A) eat (B) eats (C) eating (D) eaten

Choose the correct sentence :

(A) He prevented me from going there
(B) He prevented me to go there

(C) He prevents me at going there

(D) He preventing me through going there

He ...... not be there. (Choose the correct option)
(A) is (B) shall (C) need (D) must
....... the grass.

(Choose the correct option)

(A) Keep off (B) Keep on

(C) Keep up (D) Keep away

....... chair is required.

(Choose the correct option)

(A) More (B) Much

(C) Many (D) An extra

Instruction : Questions from 61 to 100 are based on the

prescribed texts.

61.

62.

63.
64.
65.

66.

67.

68.

69.

70.

71.

72.

73.

‘Our ancestors, therefore, set a limit to our ...... ?

(A) land (B) indulgences

(C) towns (D) grains

“I pledge my loyalty to my country, irrespective of

religion or language
quotation taken ?
(A) Zakir Hussain (B) Pearl S. Buck

(C) Mahatma Gandhi (D) Anton P. Chekhov
Nanukaka went to visit the ..... Minister.

(A) Finance  (B) Welfare (C) Railway (D) Home
Leep, the dog, was bought for ..... rubles.

(A) 115 (B) 65 (©) 85 D) 75
Pearl S. Buck was interested in meeting the :

(A) leaders (B) saint

(C) peasants (D) Americans

...... ” From whose piece is this

At first Benjy kept ...... hens.

(A) 10 or a dozen B) 20

(©) 30 (D) 40

The ...... would not be satisfied until justice rolled down
like water.

(A) Americans (B) Negroes
(C) Europeans (D) Indians

Bertrand Russell belonged to :

(A) Ireland (B) Iceland

(C) Britain (D) Germany
...... stops and hinders our progress.

(A) Education (B) Poverty

(C) Class (D) Politics
......... was twelve years old and still at primary school.
(A) Seibei (B) Seibei’s friend

(C) Seibei’s sister (D) Seibei’s cousin
Donne compares his journey of life to that of the :
(A) Stars (B) Sun (C) Planets (D) Moon
‘Thou watchest the last oozings hours by hours.” It is
from :

(A) An Epitaph (B) The Soldier

(C) Ode to Autumn (D) Song of Myself
“Travellers in their last distress” is from :

(A) Now the Leaves are Falling Fast

(B) An Epitaph

(C) Ode to Autumn

(D) The Soldier
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74.
75.

76.

77.

78.

79.
80.

81.

82.

83.

84.
85.

86.
87.

88.

89.

90.

91.

92.

93.

9.

TARGET QUESTION BANK

The Soldier is a/an :

(A) sonnet (B) ballad (C) epic (D) lyric
Autumn is a season of :
(A) fruitfulness (B) no fire

(C) no rain (D) no leaves

“And when I crumble, who will remember”’—is from :
(A) Ode to Autumn (B) An Epitaph

(C) Song of Myself (D) The Soldier

In ‘Fire-Hymn’, Daruwalla talks about a :

(A) burning clothes (B) burning house

(C) burning forest (D) burning ghat

“And his footprints are not found in any file of Scotland
Yard.” It is from :
(A) The Soldier
(C) Ode to Autumn
(D) Macavity : The Mystery Cat

The grandmother’s house fell ....... after her death.

(A) crazy (B) noisy  (C) silent (D) chaotic
‘He drank enough, And lifted his head, dreamily, as one
who has drunken’—is from :

(A) Snake

(B) My Grandmother’s House

(C) The Soldier

(D) An Epitaph

(B) Fire-Hymn

The Anglo-Saxons invaded ....... in AD 449.
(A) Britain (B) Thailand
(C) America (D) Japan

Wycliff and Langland are writers of the ....... period.
(A) Old English (B) Middle English

(C) Modern English(D) Post-modern English
Macavity is said to be mysterious because :

(A) the Scotland Yard is baffled by him

(B) he has a hidden paw

(C) no one understands his ways

(D) he has hidden powers

Attic civilization belongs to :

(A) India (B) Greece (C) Rome (D) China
“The past is not dead and static, it is alive and .....,
(A) pledge (B) ethnic

(C) dynamic (D) presumptuous
“Nanukaka opened his silver snuffbox and took a .....
(A) coat (B) kurta (C) pinch (D) pitch
Martin Luther King, Jr. wanted the Negroes to continue
working with :

(A) hatred (B) jealousy (C) love (D) faith
“The last of the great prehistoric inventions was the art

(A) fighting  (B) cooking (C) writing (D) hunting
“The editorial policy of a daily paper is controlled by
....... chief factors.”

(A) four (B) two (C) three (D) five
Pearl S. Buck ate her food ....... in an Indian village.
(A) with ladle (B) with her hands

(C) with fork and spoon (D) with chop sticks

“That thou lov’st me, as thou say’st,” is from :

(A) Snake (B) An Epitaph

(C) Song of Myself

(D) Sweetst Love, I Do Not Goe

“In a series of memorable pictures, John Keats, exhibits
the principle of ...... in nature.”

(A) scarcity (B) beauty

(C) maturity (D) immaturity

The praises and images of ...... run throughout the poem
“The Soldier”.

(A) India (B) England (C) France (D) America
‘How often I think of going there, to peer through blind
eyes of windows”. It is from :

(A) My Grandmother’s House

(B) An Epitaph

(C) Song of Myself

(D) Snake

9s.

96.

97.

98.

99.

Who wrote “..... for every atom belonging to me as good
belongs to you’?

(A) Rupert Brooke (B) Walt Whitman

(C) John Donne (D) Water de la Mare
‘Hoping to cease not till death.”—is from :

(A) The Fire-Hymn

(B) The Soldier

(C) Song of Myself

(D) My Grandmother’s House

The ....... English period is generally considered to be
from AD 1150-1500.

(A) Old (B) Middle

(C) Modern (D) Post-modern

Latin and ....... were the two major influences on Old
English.

(A) Greek (B) French

(C) Scandinavian (D) Indian

The Anglo-Indian community in India use ........ as their
mother-tongue.

(A) Urdu (B) Parsi

(C) English (D) Hindi

100. Who wrote ‘She Stoops to Conquer’?

1.

(A) G B. Shaw (B) T. S. Eliot
(C) Salman Rushdie (D) Oliver Goldsmith

SECTION-B (DESCRIPTIVE TYPE)

Write an essay on any one of the following in about

150-200 words : 1x8=8

(a) Value of Education

(b) Chandrayaan 3

(¢) An Indian Festival

(d) Wonders of Science

(e) Noise Pollution

Explain any one of the following : 1x4=4

(a) ‘A certain degree of physical harmony and comfort is

necessary, but above a certain level it becomes a

hindrance instead of help.’

‘Fancy a lad spending his time playing around like that

with gourds!...’

‘In non-technocratic societies, except for remarkable

accidents, birth is always attended.’

My life has been too crowded with travels and many

people for me to put it all within the covers of one

book, ....”

Explain any one of the following :

(a) ‘He hath no desire, nor sense,

Nor halfe so short a way;

Then feare not mee,’

Cold, impossible, ahead

Lists the mountain’s lovely head.

“You may meet him a by-street, you may see him in the

square—

But when a crime’s discovered, then macavity’s not

there.’

(d) ‘And yet those voices :

If you were not afraid, you would kill him !’
Write a letter to your friend, congratulating him for his
success in the Secondary Examination.
Or,

Write an application to your Headmistress asking for sick

leave as you are suffering from typhoid.

Answer any five of the following in about 40-50 words:
5x2=10

(a) What does Pearl S. Buck mean by saying ‘Religion is

ever present in Indian life’?

(b) What did the doctor advise Benjy’s parents to ensure

(©)

(d)

(b)
(©
(d)

1x4=4

(b)
(©)

his mental growth ?

What do you mean by the term ‘free press’?

How are the children of the joint family in Bangladesh
looked after ?
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(e) Is the speaker in ‘The Soldier’ afraid of death?

(f) Why did the speaker like the snake?

(g) How are autumn and summer related to spring?

(h) Name three areas of English language in which rapid
changes have been noticed in the last few decades.

(i) What has made English ‘The most gloriously, empire

language?
() What did the 18th century grammarians share with the
Age?
6. Answer any three of the following in about 100-120
words: 3x5=15
(a) Write the summary of any one of the following
poems:

(i) Sweetest Love, I Do not Goe
(i1) The Soldier
(iii) Now the Leaves are Falling Fast
(b) Write the summary of any one of the following
prose-pieces:
(1) A Child is Born
(ii) Ideas That Have Helped Mankind
(iii) I Have a Dream
(c) Write a note on the Indian English.
OR,
Write a note on English as a world language.
OR,
Write a note on Modern English.
(d) Match the names of the poems given in List-A with
their poets in List-B.
List-A
(i) The Soldier
(i1)) To Autumn (b) Rupert Brooke
(iii) Snake (¢) K. N. Daruwala
(iv) My Grandmother’s House (d) D. H. Lawrence
(v) Fire-Hymn (e) Kamala Das
(e) Translate any five into English :
(i) & @ T e § TE €
(i) B8 = F uH o 2
(iii) R T TF G FeH 2
(iv) T TETHT T T AR FW
(v) TR =1 qfF ST 2|
(vi) S9! f¥rerenl @1 SR HEAT =feq)
(vii) T8 TG H T HER HEl 2
(viii) 1 FHA g9 GAd o TN S 2
(f) Match the names of the prose pieces in List-A with
their authors in List-B.
List-A
(i) Bharat is My Home (a) Dorothy L. Sayers
(ii)) A Pinch of Snuff (b) Dr. Zakir Hussain
(iii) How Free is the Press(c) H.E. Bates
(iv) The Artist (d) Manohar Malgaonkar
(v) The Earth (e) Shiga Naova
7. Read the passage and answer the questions that follow:
4x1=4
Anita was enthusiastic about protecting the environment.
She decided to initiate a campaign to raise awareness about the
importance of recycling. Anita started by giving presentations at
her school, educating her classmates about the need for a clean
environment. She also created posters with catchy slogans and
placed them around the community. The campaign gained
momentum, and more people joined Anita’s cause. Soon,
Anita’s efforts were recognized by local authroities and they
implemented recycling programmes in the community. Anita felt
proud of her contribution towards a greener and cleaner world.
Questions :
(a) What cause was Anita enthusiastic about ?
(b) Where did Anita start her campaign ?
(c) How did Anita raise awareness about recycling ?
(d) What impact did Anita’s campaign have on the
community ?

List-B
(a) John Keats

List-B

OR,

Write a precis of the following passage, and give a

suitable title:

Humans first appeared on earth a million and a half years
ago. He was a little more than an animal then. Still, early
humans had some advantages over animals. He had a large
brain, an erect body with fast-moving hands. He invented a
language to communicate with his colleagues. The ability to
speak was of the highest value because it allowed them to share
ideas and plans together. Speech enabled the transmission of
ideas from generation to generation. These special advantages
put humans far ahead of all other living creatures.

ANSWER
SECTION - A
1. (© 2. B 3. A 4. (D) 5 @B
6. B) 7. (A 8. (© 9. A 10. (A
11. (C 12. (B) 13. (C) 14. (A) 15. (A)
16. (C) 17. (B) 18. (A) 19. (A) 20. (O
21. (D) 22. (A) 23. B) 24. (D) 25. (B)
26. B) 27. (O 28. (C) 29. (O) 30. (B)
31. (O 32. (A 33. (C) 34. (B,C) 35. (B)
36. B) 37. (O 38. (A) 39. B) 40. (O
41. (ACD)42. (O 43. (C) 44. (D) 45. (O
46. (A) 47. (B) 48. (C) 49. (B) 50. (B)
51. (C) 52. (A) 53. (D) 54. (A) 55. (O
56. B) 57. (A) 58. (C) 59. (A) 60. (D)
61. (B) 62. (A) 63. B) 64. (C) 65. (O
66. (A) 67. (B) 68. (C) 69. B) 70. (A
71. B) 72. (C) 73. (A) 74. (A) 75. (A)
76. B) 77. (D) 78. (D) 79. (C) 80. (A)
81. (A) 82. (B) 83. (A) 84. B) 85. (O
86. (C) 87. (D) 88. (C) 89. B) 90. (B)
91. M) 92. (B) 93. B) 94. (A) 95. (B)
96. (C) 97. (B) 98. (C) 99. (O 100.(D)
SECTION - B
1. (a) Value of Education

Education holds immense value in shaping individuals and
societies. It serves as a cornerstone for personal growth and
societal progress. Firstly, education empowers individuals with
knowledge and skills, opening doors to various opportunities. It
enhances  critical  thinking, a  problem-solving and
communication skills, essential for navigating the complexities
of life.

Moreover, education fosters social development by
promoting values such as tolerance, respect and cooperation. It
plays a pivotal role in creating informed and responsible citizens
who contribute positively to their communities. Education is a
catalyst for social mobility, breaking the chains of poverty and
inequality.

On an economic level, a well-educated populace drives
innovation and economic prosperity. It equips individuals with
the expertise required for a rapidly evolving job market,
enhancing their employability and contributing to overall
economic growth.

Furthermore, education promotes cultural understanding
and global cooperation. It bridges gaps between different
cultures, fostering a sense of unity and shared humanity. In a
world interconnected by technology, education becomes a tool
for building bridges, rather than walls.

In conclusion, the value of education extends for beyond
individual achievements. It is the key to personal fulfillment,
societal advancement, economic prosperity and global harmony.
Investing in education is an investment in a brighter and more
equitable future for individuals and the world at large.
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(b) Chandrayaan-3

Chandrayaan-3, India’s ambitious lunar exploration
mission, marks significant step in the country’s space
exploration endeavors. Building upon the success of its
predecessors, Chandrayaan-1 and Chandrayaan-2, this mission
aims to further explore the mysteries of the Moon.

Chandrayaan-3 focuses on achieving a successful soft
landing on the lunar surface, demonstrating India’s growing
prowess in space technology. It is designed to carry advanced
instruments, including a lander and a rover, to conduct scientific
experiments and enhance our understanding of the Moons
geology.

The mission holds scientific importance as it aims to
analyze the lunar surface, study the Moons mineral composition
and gather valuable data that can contribute to our
understanding of the Moons history and evolution.
Chasndrayaan-3’s success would also strengthen India’s position
in the global space community.

Additionally, the mission has technological significance,
showcasing India’s capabilities in space exploration and
engineering. It highlights the country’s commitment to pushing
the boundaries of space science and fostering innovation in
space technology.

Chandrayaan-3 exemplifies the spirit of exploration and
scientific curiosity, contributing not only to India’s space
achievements but also to the global quest for knowledge beyond
Earth. As the mission unfolds, it holds the promise of unraveling
more secrets of the Moon and adding to humanity’s broader
understanding of the cosmos.

(¢) Hint : See 2009, Q. No. 8 (¢).

(d) Wonder of Science

The wonders of science are evident in every aspect of our
daily lives transforming the world and shaping the way we
perceive and interact with it. From advancements in medicine
that enhance our well-being to technological innovations that
connect the global community, science has been a driving force
of progress.

One marvel of science is medical breakthroughs,
revolutionizing health care and saving countless lives. Vaccines,
antibiotics, and diagnostic tools have become indispensable in
the fight against diseases. Science has provided solutions to
once-incurable ailments, offering hope and improved quality of
life.

Technological wonders, from smartphones to artificial
intelligence, have reshaped the way we communicate, work and
access information. The internet, a pinnacle of scientific
innovation, has connected people worldwide, fostering
collaboration and sharing knowledge at an unprecedented scale.

Environmental science has become crucial in addressing
pressing issues like climate change and pollution. Scientists
work tirelessly to develop sustainable solutions, harnessing
renewable energy sources and creating technologies to mitigate
the impact of human activities on the planet.

Space exploration, another marvel of science, expands our
understanding of the universe. Scientific discoveries beyond
Earth provide insights into the origins of our solar system and
the potential for life beyond our planet.

In essence, the wonders of science permeate every facet of
our existence, offering solutions to challenges and unlocking the
mysteries of the universe. The continuous pursuit of knowledge
through scientific inquiry not only enhances our lives but also
propels humanity into a future shaped by innovation and
discovery.

(e) Hint : See 2022 (A) Q. No. 1 (c¢).

2. (a) These lines have been taken from our most reading
lesson in prose section ‘Indian Civilization and Culture’
which has been beautifully written in a well decorated
manner about Indian living-hood.

In these lines, the author has told about human physical

3.

harmony and comfort. He tells that proper use of hands
and feet can keep our health better if we use machinery
or other sources of help more than proper it becomes
hindrance for our physical and mental habits.

(b) This extract has been taken from our most interesting

(c)

lesson in prose section ‘The Artist” which has been
written by H.E. Bates. In the lesson the author describes
the habit of a boy named Seibei who has an unusual
habit on Gourds. Since the boy has a mind of an artist
so he has such an interest rather than study.

In the lesson Seibei’s father is so irritated for such
interest and he tells his son’s activities to one of his
friends who has come to attend him. He tells that all the
time Seibei is engrossed on Gourds rather than playing
or study.

This extract has been taken from our most remarkable
lesson in prose section ‘A Child is Born’, who has been
interestedly written by Germaine Greer. This lesson
deals about child-birth system in all the country. She has
expressed views on it.

She tells that the women living in society which is not
developed well with technology their child-births are
looked after by all the members of whole family rather
than expensive hospitals. In some rare cases there
happen the accidents in which they have to go through
the sparkling hospitals.

(d) This line has been taken from the lesson ‘India Through

A Travellers’ Eyes’ written by Pearl S. Buck. It is about
her visit to India a traveller and the impressions she
gathered about it. According to Pearl S. Buck, her life
is full of travels. When she visited to India, she met
several kinds of people. Her life is full of so many
people that it is not possible to put them within the
covers of one book. It means she met a large number of
people in India and listened to them. She knew their
future plan.

(a) This stanza has been taken from our most remembered

lesson in poetry section ‘Sweetest Love I do not goe’
which has been written by John Donne in a new kind of
lyrical and satirical verse. In this poem the poet moans
like a lover to his beloved and expressing his love for
her.

He says that he loves his beloved so much and he does
not have any other desire or sense rather than his
beloved. His compares his love with sun and he weights
his love more than sun and tells he has no fear of
anything in his life.

(b) Hint : See 2021 A, Q. No. 3 (b).

(c)

The present stanza has been taken from our most
interesting poem ‘Macavity : The Mystery Cat’ which
has been written by Thomas Stearns Eliot in so
decorative style. He has given a full account of his pet
cat named ‘Macavity’ and expressed his activities in his
poem.

The poet tells that he has a mind of human; extra
ordinary thinking like any animals. His action is such
strange that no one can claim that these crimes have
been done by Macavity because if the crime is
discovered no one could see him right on the spot. He
can be seen in any other places but not right on the spot.

(d) This extract has been taken from the poem ‘Snake’

written by D. H. Lawrence. Here, in this poem, the poet
is narrating an ordinary experience of finding a snake
drinking water in his backyard. When the poet saw a
snake who came to drink water, he was fascinated by it.
He did not want to kill him.

Nature in him prevented him from killing it. But, his
inner vokes, representing common belief provoking him
says that he became afraid of the snake otherwise he
would have killed it.
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Examination Hall
05 January, 2024

I hope this letter finds you well. I wanted to extend my
heatfelt congratulations on your outstanding success in the
secondary examination! Your hard work and dedication
have truly paid off and I couldn’t be happier for you. This
achievement is a testament to your intelligence and
perseverance.

I know the journey wasn’t easy, but your determination
and commitment have shone through. You success not only
reflects your academic prowess but also your resilience in
the face of challenges. I have no doubt that you will
continue to excel in your future endeavors.

Once again, congratulations on this well-deserved
achievement. I look forward to witnessing your continued
success and celebrating many more milestones together.
Best wishes,

Address :

Dear Shantnu

Your friend
Anand

OR,

To,

The Headmistress

HPD Jain School, Ara
Subject : Prayer for sick leave
Through : The class teacher
Ma’am,

I am Vinay Kumar studying in class X. I am writing to
inform you that unfortunately, I have been diagnosed with
typhoid fever and the doctor has advised me to take a
period of rest for recovery.

Due to my health condition. I am unable to attend
classes and actively participate in school activities.
Therefore, I kindly request your permission to grant me sick
leave starting from 06.02.2024 to 12.02.2024. I have
attached to the medical certificate along with this
application for your reference.

I shall ever be obliged to you for this kind act.

Your faithful

Vinay Kumar

Class — X ‘A

Roll - 02

(a) The author wanted to express her idea about the role of
the religion in Indian life. She cited the example of this
fact by narrating whatever she experienced in one
Indian family. While she was sitting in her host’s room,
one gentleman came in and without speaking to them
moved to the far end of the room. There he knelt his
head bowed and remained in that way for about a
quarter of an hour. Her hostess explained that he was
her husband’s eldest brother and was offering prayer.
She meant to say that religion was present in every walk
of the life of an Indian. It had both the best and the
worst aspects. But she did not criticize it.

(b) The doctor had advised them that Benjy needed interest
that would strenthen his mind. It would be good if they
gave him something to do, some occupation which
helps his development.

(c) We usually mean freedom of the press in a very
technical and restricted sense namely freedom from
direction or censorship by the government. In this
respect the British press is under ordinary conditions,
singularly free.

(d) In Bangladesh, children under the age of five or six are
looked after by the whole family. All the children of the
joint family are looked after together. They are taken to
the pond for a bath perhaps by one daughter-in-law, and
six bathes them all. Then they all came in and sit down
to eat.

Date : 05.02.2024

(e) No, the speaker is not afraid of death. He would be
given a corner of the foreign field.

(f) He liked the snake because it had come like a guest. It
had drunk water quietly, and departed peacefully after
drinking to its satisfaction.

(g) Hint : See 2021 A, Q. No. 5(b).

(h) English is a younger language in comparison to any
other language. But there have been seen many rapid
developments in English Language this is the reason
that English has become a world language. Main three
changes are as following :

(i) English Grammar

(ii) Spelling

(iii) Pronunciation
Removing all difficulties from English some codes for
uses of proper words and cases, Greet Vowel Shift for
spelling and pronunciation were made on time being
many changes were put in it. It was made standard
language to be understood and easy to be expressed our
all types of feelings and emotions and this language
development with a great speed.

(i) There are many reasons which have made English the
most gloriously as rapid improvements were made into
it. The rules and codes of Grammar, Spelling and
Pronunciation were made. The main reason for English
to be the most gloriously language was that many
vocabularies were borrowed from many European
Languages such as Latin, Spanish, Italian and French.

(j) The 18th century grammarians shared the spirit of the
Age to establish order in English language. They saw a
chaotic (confused) period of expansion and experiment
of English language.

(a) (i) Hint : See 2011, Q. No. 13 (d).
(ii) Hint : See 2009, Q. No. 14 (c¢).
(iii) Hint : See 2013, Q. No. 12 (d).
(b) (i) Hint : See 2009, Q. No. 17 (b).
(i) Hint : See 2013, Q. No. 15 (b).
(iii) Hint : See 2009, Q. No. 17 (d).

(c) Hint : See 2011, Q. No. 19.

OR,
Hint : See 2010, Q. No. 20.

OR,
Hint : See 2010, Q. No. 19.

(d) ()—(b), (i)—(a), (ii)—(d), (iv)—(e), (v)—(c).

(e) (i) They teach in a school.

(i) It is 1O clock by my watch.
(iii) I have a beautiful pen.
(iv) People respect Mahatma Gandhi.
(v) The land of Bihar is fertile.
(vi) You should respect teachers.
(vii) She helps me at study.
(viii) Will you go to Sunita tomorrow?

(f) ()—(b), (i)—(d), (i)—(a), (iv)—(e), (v)—(c).

(a) Anita was enthusiastic about protecting the
environment.

(b) Anita started her campaign at school.

(c) Anita raise awareness about recycling by giving
presentations, educating her classmates and creating
posters with catchy slogans.

(d) Anita’s campaign were recognized by the community
and they implemented recycling programmes in the
community.

Or,
Title : The importance of Language
The invention of language provided humans the ability to

speak which is the highest value to allow them to share ideas
and planes and enabled the transmission of ideas from
generation to generation.

[Total words : 90; Precised words : 30]
HEE
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